Electric Drives Linear Motion and Re t h
and Controls Hydraulics Assembly Technologies Pneumatics Service xro
Bosch Group

Axial Piston Variable Pump RE 92100/0511  1/68

Replaces: 11.95

A4VSG

Data sheet

Series 10, 11 and 30

Size 40 to 1000

Nominal pressure 350 bar
Maximum pressure 400 bar
Closed circuit

Contents Features
Ordering code for standard program 2 — Flow and pressure side reversible (over centre operation)
Technical data 5 — Motor mode possible
_ — Low noise level
Summary of control devices 10 - Long service life
Dimensions, sizes 40 to 1000 16 — Drive shaft can absorb axial and radial forces
Through drive 34 — High power/weight ratio
— Modular desi
Permissible mass bending moment 35 oadiar design .
— Short response times
Overview of mounting options on A4VSG 36 — Through drive and pump combinations possible
Combination pumps dimensions 38 - Visual swivel angle indicator
Through drive dimensions M — Optional installation position
— Operation on HF-fluids under reduced operational data
Auxiliary pumps H02, HO4 and HO6 54 possible
Complete schematic HO2 56 L . .
. The A4VSG axial piston variable pump in swashplate
Complete schematic HO4 57 design is designed for hydrostatic drives in closed circuits.
Dimensions HO2 and HO4 58 Flow i§ pr'oportional to drive speed .arlwd disp'lacement.
By adjusting the swashplate angle it is possible to steplessly
Complete schematic HO6 60 vary the output flow.
Dimensions HO6 62
Valve block SDVB 64
! ) o For descriptions of the control devices, see separate data sheets:
Filter mounted in boost circuit ...F 65

. . RE 92056, RE 92060, RE 92072,
Installation instructions 66 RE 92076, RE 92080, RE 92084

General instructions 68



2/68 Bosch Rexroth AG

Ordering code for standard program

A4VSG Series 10, 11 and 30 | RE 92100/05.11

A4VS | G / - 10
01 02 03 04 05 06 07 08 09 10
Hydraulic fluid 40 71 125 180 250 355 500 750 1000
o1 Mineral oil and HFD-fluids (no code) e o o o o o o o o
HFA-, HFB and HFC-hydraulic fluids o & o o o o o - - E-
Axial piston unit
‘02 | Swashplate design, variable | A4VS |
Operation mode
‘03 | Pump, closed circuit | G |
Size (NG)
04| 2 displacement Vg max [cm?] | 40 | 71 | 125]180{ 250|355 500|750 [1000|
Control devices
Manual control e &6 6 o o o o MA..
. (RE 92072)
Electric motor control ® & & o o o o | - | - | EM.
Hydraulic control, control volume dependent ® & 6 & o o o o o | HM.
Hydraulic control, with servo/proportional valve (RE92076) | @ | @ | ®© | @ @  © © | ® | ® | HS.
Hydraulic control, with proportional valve ® &6 &6 &6 o o o | o o  EO.
05| Hydraulic control, pilot pressure dependent (RE92080) | @ | ® | ®© | ®© | ®© @ @ | ® | ® |HD."
Electrohydraulic control (RE92084) (@ (@ |@ |@ | @ @ | @ | @ |O|EPY
with proportional solenoid
Pressure control, swiveling to one side of centre (RE 92060) e e/ oo o o o o o |DR.
Pressure control for parallel operation o oo | o o  ®  ©® o o |DPV?
Secondary speed control (RE92056) | ® | ®© | ®© | ®© | ®© ®© @ | ®@ | ® | DS.
Series
05 Series 1, index 0 (index 1) ®e | ® | - |- | -|=-1=-1-=1~=/]001®
Series 3, index 0 - - | ®© | ®© | ®© | & | @& | @ 30
Direction of rotation
Viewed on drive shaft clockwise R
07 counter clockwise L
bi-directional w?
Seals 40 71 125 180 250 355 500 750 1000
08 NBR (nitrile-caoutchouc), shaft seal FKM ® | 6 6 6 o o o o o P
FKM (fluor-caoutchouc) / HFD operation o 6 6 6 o o o o o \'}
Drive shaft
09 Parallel keyed shaft DIN 6885 =]
Splined shaft DIN 5480 Z
Mounting flange 40 71 125 180 250 355 500 750 1000
0 Based on ISO 3019-2 metric 4-hole e o o e o o - - - B
8-hole -|l=-]=-]/-|-]1-|1®| ®@| @ H
@ = Available O = On request — = Not available

1) Bi-directional rotation not possible in all cases, please observe separate data sheets for the controls
2) Operation only on one side of centre
3) Design with HD- and EP-controls in series 11



RE 92100/05.11 | A4VSG Series 10, 11 and 30 Bosch Rexroth AG 3/68
Ordering code for standard program
A4VS | G / - 10
11 12
Service line ports
‘ 1 |SAE flange ports A and B, located on same side, metric fastening thread | 10 |
Through drive 40 71 125 180 250 355 500 750 1000
Without attachment pump, without through drive ® & & e o o o o o | Noo
With through drive for mounting an axial piston or gear pump e &6 6 & o o o o o K...
Flange gp?;zljrsfﬁ;ﬂ to mount
125, 4-hole (ISO%)  32x2x14x9g A4VSO/G 40 ® & & e & O | O|O0|O 31
140, 4-hole (ISO%)  40x2x18x9g A4VSO/G 71 - o ®|  ® & | & & | O | e 33
160, 4-hole (ISO%) 50x2x24x9g A4VSO/G 125 -|-|®| ® |  ® | ® | & | O|O| 34
160, 4-hole (ISO%) 50x2x24x9g A4VSO/G 180 -|l-|-|®e|® | ® | ®|O|O| 34
224, 4-hole (ISO%) 60x2x28x9g A4VSO/G,A4CSG25%0 | = | = | - | - | @ | @ | @ | ®@ | @ 35
224, 4-hole (ISO%) 70x3x22x9g A4VSO/G, A4CSG 355 | — | = - -1 ®| ® [ O[O 77
315, 8-hole (ISO%)  80x3x25x9g A4VSO/G,A4CSGB00 | = | = | = | = | - | - | ®@ | O | O 43
400, 8-hole (ISO%) 90x3x28x9g A4VSO/G,A4CSG750 | = | = | = | = | = | - | - | ®@ | @ 76
400, 8-hole (ISO%) 100x3x32x9g A4VSO/G 1000 - - - - - - - - [ 88
80, 2-hole (ISO¥)  3/4in 19-4 (SAE A-B) A10VSO10/52,18/31 | O | O | O | O | O | O | O | O | O B2
100, 2-hole (ISO%)  7/8in 22-4 (SAEB)  A10VSO 28/31 ® O ® O @ O|O0|0O0|O0O B3
100, 2-hole (ISO%) 1in 25-4 (SAEB-B)  A10VSO 45/31 O|le| O  @e|® | O |O0|0O0]|O B4
125, 2-hole (ISO%) 1 1/4in 32-4 (SAE C) A10VSO 71/31 - e | ® | ®© & @& | O | O B5
160, 4-hole (ISO%) 1 1/4in 32-4 (SAE C) A10VSO 71/32 -1 OO0 |O0O]O]O|O]|O B8
121125, 2-hole (ISO%) 1 1/2in 38-4(SAE C-C) A10VSO 100/31 -|-|o|/eo /e @ |@®@ | ®| O Bs
180, 4-hole (ISO%) 1 1/2in 38-4 (SAE C-C) A10VSO 100/32 - =100 O] O]O|O]|O B9
180, 4-hole (ISO%) 1 3/4in 44-4 (SAED) A10VSO140/31/32 | - | - | - | @ | ®@ | ®@ | ® | ® | O B7
82-2 (SAE A) 5/8in 16-4 (SAEA) AZPF-1X-004.022 | @ | ®© | ®© | © | ®© | ®© | ®© | ®@ | O 01
82-2 (SAE A) 3/4in 19-4 (SAE A-B) A10VS0 10,18/31/528)] O | O | O | O | O | @ | O | O | O 52
101-2 (SAE B) 7/8in 22-4 (SAE B) Q1ZCI)DVNO13(8(/)§1%53(332)’ ol oleolelelelelolo 68
101-2 (SAE B) 1in 25-4 (SAEB-B) PGH4,A10V045/31| O | @ | ®@ | @ | @ | ®@ | @ | O | O 04
127-2 (SAE C) 1 1/4in 32-4 (SAE C) A10VO 71/31 - |lO|® | ® | & | | ®@ | @ O 07
127-2 (SAE C) 1 1/2in 38-4 (SAE C-C) PGH5,A10V0100/31| - | - | @ | ®@ | ®© | @ | ®@ | @ | @ 24
152-4 (SAE D) 1 3/4in 44-4 (SAED) A10VO 140/31 -/ -1 ®e|® |  ® & & | & O 17
}/l\gtnhgteh’r&%%g c?wi?hsgg\% rvsgltgt%ut shaft coupler, without adapter o o 0o/ 0o/o 0o/ 0o/e!e 99
Boost pump mounted
A piped auxiliary pump for the boost circuit ® | ® | | ® A | A | A| A | O HO2
&ﬁgn;é?c&noﬂip::dagxoilgag pump for the boost and control circuit o o o -|4a- _ _ - | Hoa
Separately piped auxiliary pumps for the boost circuit and the con-
trol circuit (only for HD1T and HD1U) including a pressure relief ® O O O A | A A A O HO6
valve for the control circuit

Combination pumps
1. Combination pumps consisting of axial piston units — for ordering example, see page 34; for summary of mounting options, see
page 36

2.1f delivery with mounted gear pump is desired, please contact us

@ =
O=

Available

Onrequest - = Not available

4) Acc. to ISO 3019-2 metric

A = Not for new projects, please contact us, replacement A4CSG see RE 92105



4/68 Bosch Rexroth AG A4VSG Series 10, 11 and 30 | RE 92100/05.11

Ordering code for standard program

A4VS | G / - 10
13 14
Valves 40 71 125 180 250 355 500 750 1000
Without valve block e 6 6 &6 &6 6 o o o 0
13 | Valve block SDVB mounted ® | ®  ©® ® | A A A | A O 9
Valve block SDVB 16/40 mounted® O|lOoO|O|0O| - - - - - 4
Filtration
Without filter ® O &6 o o o o o o N
Filter mounted in boost circuit e & o6 &6 &6 6 &6 O | O F

14 | Sandwich plate filter

6| - | =
(for HS- and DS-control, see RE 92076 and RE 92056) © & & o o o0 z
Filter mounted in boost circuit and sandwich plate filter ol _ | _
for HS- and DS-controls ® 6 6 06 o6 o 0o U
@ = Available A = Not for new projects, please contact us, replacement A4CSG see RE 92105

O = On request — = Not available

5) With direct operated flushing spool and pilot operated high-pressure relief valve
6) For the size 500 only available for the DS-control, HS see RE 92076




RE 92100/05.11 | A4VSG Series 10, 11 and 30

Technical data
Hydraulic fluid

Before starting project planning, please refer to our data sheets
RE 90220 (mineral oil), RE 90221 (environmentally accept-
able hydraulic fluids) and RE 90228 (HF hydraulic fluids) for
detailed information regarding the choice of hydraulic fluid
and conditions of use.

The variable pump A4VSG is suitable for operation with HFA,
HFB, HFC and HFD fluids.

When operating with HF or environmentally acceptable
hydraulic fluids, restrictions of the technical data and seals
are required acc. to RE 90223 or RE 90221.

When ordering, indicate the hydraulic fluid that is to be used.

Selection diagram

-20 0 20 40 60 80 100
1000 - 1000
600
400
L L L
@ 200+ Q}Q%X@ﬂ% Oc
&
£ 100
£ 80
> 60
éﬁ 40 ®
8 E —36
3 E .
L E E S
= 203 3 S
3 —16
10+ — 10
-25  -10 10 30 50 70 90 Temperature
e |  t[C]
tmn=-25°C Hydraulic fluid temperature range  tma=+90°C
in the circuit
Viscosity and temperature
Viscosity [nm2?/s] Temperature
Transport and storage Tmin = =50 °C

Topt = +5 °C to +20 °C

Bosch Rexroth AG 5/68

Details regarding the choice of hydraulic fluid

The correct choice of hydraulic fluid requires knowledge of the
operating temperature in relation to the ambient temperature:
in a closed circuit, the circuit temperature.

The hydraulic fluid should be chosen so that the operating
viscosity in the operating temperature range is within the
optimum range (vopt), See shaded area of the selection dia-
gram. We recommend, that the higher viscosity class

is selected in each case.

Example: At an ambient temperature of X °C, an operating
temperature of 60 °C is set in the circuit. In the optimum operat-
ing viscosity range (vopt, shaded area), this corresponds to the
viscosity classes VG 46 or VG 68; to be selected: VG 68.

Note

The case drain temperature, which is affected by pressure and
speed, is always higher than the circuit temperature. At no point
of the component may the temperature be higher than 90 °C,
however.

If the above conditions cannot be maintained due to extreme
operating parameters, please contact us.

Comment

up to 12 months with standard factory preservation
up to 24 months with long-term factory preservation

(Cold) start-up? Vimax = 1000 Tst > 40 °C

t < 3 min, without load (p < 50 bar), n < 1000 rpm

Permissible temperature difference AT < 25K

between axial piston unit and hydraulic fluid

Warm-up phase v <1000 to 100

T=-40°Cto-25°C

for Prnom:s 05 Nmax andt < 15 min

Operating phase

Maximum temperature 90 °C

measured at the case drain port

v=100to 15
Vopt = 16 t0 36

Continuous operation

T=-25°Cto+90°C

measured at the case drain port,
no restriction within the permissible data

Short-term operation  vpin=<15t0 5 Tmax = +90 °C measured at the case drain port,
t<3 min, p<0.3 * prom
FKM shaft seal® T<+90°C see page 6

1) At temperatures below —25 °C, an NBR shaft seal is required (permissible temperature range: —40 °C to +90 °C).



6/68 Bosch Rexroth AG

Technical data

Bearing flushing

For the following operating conditions bearing flushing is
required for a safe, continuous operation:

— Applications with water-containing special fluids due to
limited lubricity and narrow operating temperature range

— Operation with limiting conditions for temperature and
viscosity

— With vertical installation (drive shaft facing upwards) to
ensure lubrication of the front bearing and the shaft seal.

Bearing flushing is carried out at port "U" in the front flange
area of the variable pump. The flushing fluid flows through
the front bearing and leaves the pump together with the case
drain fluid.

Depending on pump size, the following flushing flows are rec-
ommended:

Size 40 n 125 180 250
recommended gs, L/min | 3 4 5 7 10
flushing flow

Size 355 500 750 1000
recommendedgs, L/min (15 20 30 40
flushing flow

These recommended flushing flows will cause a pressure drop
of approx. 2 bar (series 1) and 3 bar (series 3) between the ent-
rance to port,U" and the pump case ( including the pipe fittings.
Notes regarding series 30

When using external bearing flushing, the throttle screw in port U
must be turned in to the end stop.

Filtration of the hydraulic fluid

Finer filtration improves the cleanliness level of the hydraulic
fluid, which increases the service life of the axial piston unit.

To ensure the functional reliability of the axial piston unit, a gravi-

metric analysis of the hydraulic fluid is necessary to determine
the amount of solid contaminant and to determine the cleanli-
ness level according to ISO 44086. A cleanliness level of at
least 20/18/15 is to be maintained.

Depending on the system and the application, for the A4VSG,
we recommend

Filter cartridges oo = 100.

With an increasing differential pressure at the filter cartridges,
the B value must not deteriorate.

"A filter mounted in the boost circuit" is optionally available with
er designation F or U.
For description, see page 65

A4VSG Series 10, 11 and 30 | RE 92100/0511

Shaft seal
Permissible pressure loading

The service life of the shaft seal is influenced by the pump
speed and the case drain pressure. It is recommended that
the average, continuous case drain pressure of 2 bar absolute
at operating temperature not be exceeded (maximum permis-
sible case drain pressure 4 bar absolute at reduced speed,
see diagram). Momentary (t < 0.1 s) pressure spikes of up

to 10 bar absolute are permitted. The service life of the shaft
seal decreases with an increase in the frequency of pressure
spikes.

The case pressure must be equal to or greater than the
external pressure on the shaft seal.

Bolo @

8x8o —

S\®iglk= ¢
N\ T Y Size

4000
_>

2000 3000

Speed n [rpm]

0 1000

Case drain pressure p| aps [bar] —»

Temperature range

The FKM shaft seal is permissible for case drain temperatures
from -25 °C to 490 °C.

Note

For application cases below -25 °C, an NBR shaft seal is
required (permissible temperature range: -40 °C to +90 °C).
See RE 90300-03-B.



RE 92100/05.11 | A4VSG Series 10, 11 and 30

Technical data
Operating pressure range

Pressure at service line port (pressure port) A or B

Nominal pressure pnom 350 bar absolute

Maximum pressure ppay 400 bar absolute
Single operating period 1s
Total operating period 300 h

15 bar

Minimum pressure (high-pressure side)

Minimum pressure (low-pressure side)
The minimum pressure is speed related, see diagram

? 20 NG750 and 1000
18
T 16 ,/ NG40 to 500
= /
S 14 4 /'
[ /
3 12 / ™ Min. recommended
$ 10 setting (gauge reading)
a s
[
S s
oM

[

05 06 07 08 09 10

Speed n [rpm] —>

Rate of pressure change Ra max 16000 bar/s

Pressure p

Ap

Time t

Inlet

Recommended boost pressure psp

NG 40 71 125 180 250 355 500 750 1000
bar 16 16 16 16 16 16 16 25 25

Recommended boost pressure for a common auxiliary pump
for boost and control fluid circuit (EO1...H04)

Psp 25 bar
Maximum boost pressure — auxiliary pump psp max for

MA-, EM-, HM-, HS-, EO-, DS-control 50 bar
HD- and EP-control 25 bar
DR- and DP-control 16 bar

Auxiliary pump inlet pressure,see data sheet for the mounted
auxiliary pump.

Boost pump, see page 54.

Observe details on the control pressure from the respective,
separate data sheets for the control devices.

Bosch Rexroth AG 7/68

Definition

Nominal pressure ppom
The nominal pressure corresponds to the maximum design
pressure.

Maximum pressure pmax

The maximum pressure corresponds the maximum operating
pressure within the single operating period. The sum of the
single operating periods must not exceed the total operating
period.

Minimum pressure (high-pressure side)
Minimum pressure at the high-pressure side (A or B) which is
required in order to prevent damage to the axial piston unit.

Minimum pressure (low-pressure side)
Minimum pressure at the low-pressure side (A or B), which is
required in order to prevent damage to the axial piston unit.

Rate of pressure change Ra
Maximum permissible rate of pressure rise and reduction dur-
ing a pressure change over the entire pressure range.

t ——

Single operating period 1,

| Maximum pressure Pmay

Pressure p

Total operating period =t1 +to 4 . + 1,

Flow direction

Direction Swivel range*
of rotation

clockwise counter-clockwise

Bto A AtoB right hand
AtoB Bto A left hand

* cf. swivel angle indicator

right hand i
left hand ¢



8/68 Bosch Rexroth AG

Technical data

A4VSG Series 10, 11 and 30 | RE 92100/0511

Table of values (theoretical values, without efficiency levels and tolerances; values rounded)

Size NG 40 4 125 180 250 355 500 750 1000
Displacement geometric, per revolution
Vg max €m3 40 71 1256 180 250 355 500 750 1000
Speed
maximum at Vg max Nmax  PM 3700 3200 2600 2400 2200 2000 1800 1600 1600
Flow
at Nmax Qvmax L/min 148 227 325 432 550 710 900 1200 1600
at ng = 1500 rpm que L/min 60 107 186 270 375 533 750 1125 1500
Power
at Nmax Ap = 350 bar Pmax kW 86 132 190 252 321 414 525 700 933
at ng = 1500 rpm Pe kW 35 62 109 168 219 311 438 656 875
Torque
at Vgmaand Ap = 350 bar Tmax  NM 223 395 696 1002 1391 1976 2783 4174 5565
Ap =100 bar T Nm 64 113 199 286 398 564 795 1193 1590
Rotary stiffness of drive shaft
P c kNm/rad | 80 146 260 328 527 800 1145 1860 2730
z c kNm/rad | 77 146 263 332 543 770 1136 1812 2845
Moment of inertia for rotary group  Jgr ~ kgm? 0.0049 0.0121 0.083 0.055 0.0959 019 0.3325 0.66 1.20
Maximum angular acceleration? o rad/s? 17000 11000 8000 6800 4800 3600 2800 2000 1450
Case volume \Y L 2 2.5 5 4 10 8 14 19 27
Mass approx.
(Pump with HS4-control m kg 42 60 107 112 220 235 335 500 644

without valve block)

1) The data are valid for values between zero and maximum permissible speed.
Valid for external excitation (e. g. engine 2 to 8 times rotary frequency; cardan shaft twice the rotary frequency).

The limit value applies for a single pump only.

The load capacity of the connection parts must be considered.

Note

Operation above the maximum values or below the minimum values may result in a loss of function, a reduced service life or in
the destruction of the axial piston unit. We recommend testing the loads by means of experiment or calculation / simulation and

comparison with the permissible values.

Calculation of pump size

Vgeneny
Flow =— [L/min]
Y =000

Vy* A

Torque _et® [Nm]
20 ¢ 7 * Nmn
2neTen A

Power = = dv° 2P [kwW]
60000 600 * n;

For boost pump parameters, see page 54.

Vg = Displacement per revolution in cm?®

Ap = Differential pressure in bar

n = Speed in rpm

nv = Volumetric efficiency

Nmh = Mechanical-hydraulic efficiency

nt = Total efficiency (ny="ny * Nmn)



RE 92100/05.11 | A4VSG Series 10, 11 and 30 Bosch Rexroth AG 9/68

Technical data

Permissible radial and axial forces on the drive shaft

Size 40 4 125 180 250 355 500 750* 1000

Maximum radial force Fq |
for X/2

Fo max N 1000 1200 1600 2000 2000 2200 2500 3000 3500

X/2 | X/2 1

Maximum axial force

iFaM—-E*'**" * Faxmax N 600 800 1000 1400 1800 2000 2000 2200 2200

Note
Special requirements apply in the case of belt drives. Please contact us.

Influence on the direction of the permissible axial force:
+ Faxmax = Increase in bearing life

- Famax = Reduction in bearing life (avoid)

Permissible input and through-drive torques

Size NG 40 71 125 180 250 355 500 750 1000
Torque T Nm[223 395 696 1002 1391 1976 2783 4174 5565
at Vg max and Ap = 350 bar") max
Input torque at drive shaft, maximum?
Splined shaft Z Temax Nm 446 790 1392 2004 2782 3952 5566 8348 11130
Shaft key P Temax Nm |[380 700 1392 1400 2300 3557 5200 7513 9444
Maximum through-drive torque Tb max = TE max

1) Efficiency not considered
2) For drive shafts without radial force

Torque distribution
Ta1 Ta2

1st pump - 2nd pump




10/68 Bosch Rexroth AG

Summary of control devices

MA - Manual control
(see RE 92072)

Infinitely variable adjustment of displacement by means of a

handwheel.

Characteristic

)
Smax
A
Ve Vg
Vg max Vg max
s
Smax
Schematic
B A

Mg X‘!:_@-_;@:!’X Ma

i

A4VSG Series 10, 11

EM - Electric motor control
(see RE 92072)

Infinitely variable adjustment of disp
motor.

and 30 | RE 92100/05.11

lacements via an electric

Various intermediate displacement values can be selected with
a programmed sequence control by means of built on limit

switches and an optional potentiom
swivel angle.

Characteristic

eter for feedback of the

)
Smax
A
Ve s Ve
Vg max Vg max
s
Smax
Schematic
B A

MB{_@-T@:!’X Ma

NNNANANN
i




RE 92100/05.11 | A4VSG Series 10, 11 and 30 Bosch Rexroth AG 11/68

Summary of control devices

HD - Hydraulic control, EP - Electrohydraulic control

pilot-pressure related with proportional solenoid

(see RE 92080) (see RE 92084)

Infinitely variable adjustment of the pump displacement in relation EP control adjusts the pump displacement proportionally to
to the pilot pressure. The control is proportional to the applied the current at the solenoid. Current-regulated controllers with
pilot pressure (difference between pilot pressure and case pres- pulse-width modulation are recommended for controlling the
sure). solenoids.

Optional: Optional:

Pilot pressure curves (HD1, HD2, HD3) Pressure control (EPA, EPB, EPD)"

Pressure control (HD.A, HD.B, HD.D)", Remote pressure control (EPGA, EPGB, EPG)?

Remote pressure control (HD.GA, HD.GB, HD.G)"
Overriding power control (HD1P)
Electric control of pilot pressure signal (HD1T)

Characteristic Characteristic
Pst |
A A
V. V.
-1 > +9 _ Vg § . +Vg
Vg max Vg max Vg max Vg max
Pst |
Schematic Schematic
X2 X1
- . Pt r
| i A s
5 A0 RS S
-~ g g
E - S— L
e
””” 1 o
W= : P poooommomooeoes 3
: ) 5 1
" e T ‘ L‘I
)l z —
L F—‘ kT X T R(L)
U P K2KsT R(L) M

1) Bi-directional direction of rotation not possible.



12/68 Bosch Rexroth AG

Summary of control devices

HM 1/2 - Hydraulic control,
volume dependent
(see RE 92076)

The pump displacement is infinitely variable in relation to the
control oil volume in ports X1 and Xp

Application:
— 2-point control

— Basic control device for servo or proportional valve control.

Schematic

Mg »F_@_ﬂ_—:h Ma

A4VSG Series 10, 11 and 30 | RE 92100/0511

HS - Control system
with servo valve
(see RE 92076)

This infinitely variable displacement control is accomplished by

means of a servo valve and electrical feedback of the swivel
angle.

Optional:
Short circuit valve (HSK);
Without valves (HSE).

Characteristic

C‘C
3
2

_ Vg VQ
Vg max Vg max

C‘C
3
2

Schematic

B A oL 1
Mo | R
Ty ™] aoet
‘ g’ 77777777777 X ”X 777777777777 i
E | Revy & s
(2 -
[y ’1”""*‘

I e o e Wl O
x x x %x x k x x x %

*
U M1R5RsR7 K2K3 TR(L)R4R3R2M2

Flushing plate



RE 92100/05.11 | A4VSG Series 10, 11 and 30

Summary of control devices

HS4 - Control system,
with proportional valve

(see RE 92076)

The infinitely variable displacement control is accomplished by
means of a proportional valve and electrical feedback of the

swivel angle.

The HS4P control system is equipped with mounted pressure
transducers, which makes it suitable for electric
pressure and power control.

Optional:
With pressure transducer
Short circuit valve (HS4K,

(HS4P);
HS4KP);

For oil-immersed use (HS4M)

Characteristic

+p

S

> 4o

—0L «

N\

-p

Schematic

o =

x %

M1R5ReR7K2K3T R(L)R4R3R2M2

P S e

[
X X X

%

Bosch Rexroth AG 13/68

EO1/2 - Control system
(see RE 92076)

This infinitely variable displacement control is accomplished
by means of a proportional valve and electrical feedback of the
swivel angle.

This makes it suitable for electric control of displacement

Optional:

Control pressure range (EO1, EO2)
Short circuit valve (EO1K, EO2K)

Characteristic

U
+ Umax
A
Vq Vq
- > +
Vg max Vg max
A
U
Umax
Schematic
B A A . .

Me-[ — — AP I N
||Inglmm




14/68 Bosch Rexroth AG

Summary of control devices

DR - Pressure control
(see RE 92060)

Swiveling to one side of centre

The DR pressure control limits the maximum pressure at the
pump outlet within the control range of the pump. This max.
pressure level can be steplessly set at the control valve.
Recommended setting range 50...350 bar

Bi-directional rotation not possible.

Optional:
Remote control (DRG)
Characteristic

A
p‘

Qv min Qv max

Schematic

B A

MBx—!—f @ @ >—!—KMA o

A4VSG Series 10, 11 and 30 | RE 92100/0511

DP - Pressure control for parallel operation
(see RE 92060)

Swiveling to one side of centre

Suitable for pressure control of multiple A4VSG axial piston
units in parallel operation.

Bi-directional rotation not possible.

Characteristic

A
p

Qv min Qv max
Schematic
=
gty
L_J [
B A xp MO Mst

T I
M1 K2 KsT R(L) M2




RE 92100/05.11 | A4VSG Series 10, 11 and 30

Summary of control devices

DS1 - Secondary speed control
(see RE 92056)

The speed control DS1 controls the secondary unit (motor)

in such a manner, that this motor delivers sufficient torque to
maintain the required output speed. When connected to a
constant pressure system, this torque is proportional to motor
displacement and thus also proportional to the swivel angle.

Characteristic

Schematic

Flushing plate

e e e

U Mi KeKsTRWL M

Bosch Rexroth AG

15/68



16/68 Bosch Rexroth AG A4VSG Series 10, 11 and 30 | RE 92100/05.11

Before finalizing your design, request a binding

Di menSionS Size 40 installation drawing. Dimensiyons in mm.

Series 1

Example: HM control; for exact dimensions of the control device, see separate data sheets

R(L) (296)
i e
Qw — 4 I——I
@6} s 1~ K2
oo o e YLa I -
\W K2 @%}@ M | 0‘@ Z /{\ i -
> I= NI - & @t
o - T o
. T Ma A e Eﬁ
10 90 150
450 ey
Flange 125, 4-hole 83
based on E
1ISO 3019-2 (metric)
View X
.
g B EE- o B
e e A R
f8 — ®) 3 3o 9
SRR ?
NN 17 @ M10 020

17 deep 50.8

144 25 (164 X
297 \
282

* For HD and EP control




RE 92100/05.11 | A4VSG Series 10, 11 and 30 Bosch Rexroth AG 17/68

. . . Before finalizing your design, request a binding
D I menSIOnS Slze 40 installation drawing. Dimensions in mm.
Drive shafts
P Keyed to DIN 6885 Z Splined shaft to DIN 5480
AS10x8x56 W32x2x14x9g
= 22 = 22
=75 ’vL—; 75
[To) I o
—| 15 i
S o
gs = i =
| 22 !
8% D% i
@
3 —
28
58 36
Ports
Designation | Port for Standard  Size? Maximum State
pressure
[bar]®
AB Service line (pressure port) SAE J5184  3/4 in (high-pressure series) 400 0]
Fastening thread A/B DIN 13 M10 x 1.5; 17 deep (@)
Ma, Mg Measuring operating pressure A/B DIN 3852 M14 x 1.5; 12 deep 400 X
T Drain DIN 38525 M22 x 1.5; 14 deep 4 X8)
E Boost pressure inlet DIN 3852 M18x 1.5; 12 deep 50 (@)
Ko, Kg Fill + air bleed DIN 38525 M22 x 1.5; 14 deep 4 X8)
R(L) Tank line(case drain port) 0o
U Bearing flushing DIN 38525 M14 x 1.5; 12 deep 7 X

1) Center bore according to DIN 332 (thread according to DIN 13)

2) Observe the general instructions on page 68 for the maximum tightening torques.

3) Momentary pressure spikes may occur depending on the application. Keep this in mind when selecting measuring devices and fittings.
4) Only dimensions according to SAE J518, metric fastening thread is a deviation from standard.

5) The countersink may be deeper than specified in the standard.

6) Depending on the installation position, T, Ko, K3 or R(L) must be connected (see also pages 66 and 67)

O= Must be connected (plugged on delivery)
X = Plugged (in normal operation)



18/68 Bosch Rexroth AG A4VSG Series 10, 11 and 30 | RE 92100/05.11

Before finalizing your design, request a binding

Di m enSiO nS, Size 71 installation drawing. Dimensions in mm.

Series 1

Example: HM control; for exact dimensions of the control device, see separate data sheets

R(L) (332)
18 O Ms T T I
P —
3 3 @/ ( | |
e & % 3 E (& @1:*
N N / K2
& & 1B FE e o
U K2~ sAL & Ka / Q\?f J{\ -
9 O 0 / \
S IS ‘ ﬁtﬁ = R c&};
AN 7T
g
170
8 Ma
10 101 450 8
Flange 140, 4-hole 80
based on
ISO 3019-2 (metric) []
- E View X
s
® - — } 0 ?8 Te) @CJE/B
K | LD (D)< & 5 @ oY
z TR 3 S0 9 4
S | N U o
- | RL 4 ) = - F
= ) M12 025
m = 0 17 deep | 57.2
27 [j ) B
166 27/(20% X
2585 |
306

* For HD and EP control




RE 92100/05.11 | A4VSG Series 10, 11 and 30

Dimensions, size 71

Bosch Rexroth AG 19/68

Before finalizing your design, request a binding
installation drawing. Dimensions in mm.

Drive shafts
P Keyed to DIN 6885 Z Splined shaft to DIN 5480
AS12x8x68 W40x2x18x9g
= 28 = 28
ol 95 o
e .
=15 | | |20
-9 o
gg = i p=
m| o
? % T8 T €
<
[S] p—
28
70 45
Ports
Designation | Port for Standard  Size? Maximum State
pressure
[bar]®
A'B Service line (pressure port) SAE J5184 1 in (high-pressure series) 400 (0]
Fastening thread A/B DIN 13 M12 x 1.75; 17 deep O
Ma, Mg Measuring operating pressure A/B DIN 3852 M14 x 1.5; 12 deep 400 X
T Drain DIN 38525 M27 x 2; 16 deep 4 X8)
E Boost pressure inlet DIN 3852 M18 x 1.5; 12 deep 50 O
Ko, K3 Fill + air bleed DIN 38525 M27 x 2; 16 deep X6
R(L) Tank line(case drain port) 08)
U Bearing flushing DIN 38525 M14 x 1.5; 12 deep 7 X

1) Center bore according to DIN 332 (thread according to DIN 13)
2) Observe the general instructions on page 68 for the maximum tightening torques.

3) Momentary pressure spikes may occur depending on the application. Keep this in mind when selecting measuring devices and fittings.
4) Only dimensions according to SAE J518, metric fastening thread is a deviation from standard.
5) The countersink may be deeper than specified in the standard.

6) Depending on the installation position, T, Ko, K3 or R(L) must be connected (see also pages 66 and 67)

O= Must be connected (plugged on delivery)
X = Plugged (in normal operation)



20/68 Bosch Rexroth AG A4VSG Series 10, 11 and 30 | RE 92100/05.11

. . . Before finalizin ur design, requ bindin
DlmenS|OnS size 125 initZIlztio:dra\?vi{];. Dirizgsio:jinersntni. o
Series 3
Example: HM control; for exact dimensions of the control device, see separate data sheets

R(L) (402)
22 8 ol B
Y N\ Ms
5l© L/ &/ _\l\
2o n L@ ) /L -l -
= E (]
It \ / K2
| N el ey
@ @2 ” & H g
) K [loAL &) i Ka 1| S
a j ‘ @kJ@ ?‘, A . \@
? &Y
- o
QAT = T S \& o
8 Ma 200
10 125
450 AX)O
Flange 160, 4-hole 102
based on
1ISO 3019-2 (metric) X2 E :
N N /* View X
1 (T
A é_ i |_L
[Te]
: ~ | Glee & oY
s st o e EE
— 2 o —_ ™
o ° i N e Qe n)
o Thall— 8 E
R(L %— — o
A 0 ] ! , M14 0‘32
\ =S == \ 19 deep | 66.7
3s X1 4 B
203 14 (36%) X
315 ‘
363
* For HM1-, EO1, MA- and EM-control




RE 92100/05.11 | A4VSG Series 10, 11 and 30

Dimensions size 125

Bosch Rexroth AG

21/68

Before finalizing your design, request a binding
installation drawing. Dimensions in mm.

Drive shafts
P Keyed to DIN 6885 Z Splined shaft to DIN 5480
AS14x9x80 W50x2x24x9g
36 36

12 al

| — 12

NI 15 <

© ©

T it s -
0| 58 =1
=k Baii==7 8 -
To}
Q | .
45
82 54
Ports
Designation | Port for Standard  Size? Maximum State
pressure
[bar]®

AB Service line (pressure port) SAE J5184 1 1/4 in (high-pressure series) 400 0]

Fastening thread A/B DIN 13 M14 x 2; 19 deep @)
Ma, Mg Measuring operating pressure A/B DIN 3852 M14x 1.5; 12 deep 400 X
T Drain DIN 38525 M33 x 2; 18 deep 4 X8)
E Boost pressure inlet DIN 3852 M22x 1.5 14 deep 50 (@)
Ko, K3 Fill + air bleed DIN 38525 M33 x 2; 18 deep X6
R(L) Tank line(case drain port) 0o
U Bearing flushing DIN 38525 M14 x 1.5; 12 deep 7 X

1) Center bore according to DIN 332 (thread according to DIN 13)

2) Observe the general instructions on page 68 for the maximum tightening torques.
3) Momentary pressure spikes may occur depending on the application. Keep this in mind when selecting measuring devices and fittings.
4) Only dimensions according to SAE J518, metric fastening thread is a deviation from standard.
5) The countersink may be deeper than specified in the standard.

6) Depending on the installation position, T, Ko, K3 or R(L) must be connected (see also pages 66 and 67)

O= Must be connected (plugged on delivery)
X = Plugged (in normal operation)



22/68 Bosch Rexroth AG A4VSG Series 10, 11 and 30 | RE 92100/05.11

Before finalizing your design, request a binding

Di menSionS Size 1 80 installation drawing. Dimensions in mm.

Series 3

Example: HM control; for exact dimensions of the control device, see separate data sheets

(402)
R(L)
| B
«© ~—
® 2
o
o
N
- 10
N N
- o
950 2D
Flange 160, 4-hole 102
based on E

- X2
ISO 3019-2 (metric)
\ E‘QQ—E‘F View X

_L | ‘

1575

2160-0.063
s
I
N\
N\

S o %
. ) e JL e
= 52 2 1, DA
R k ; i
N
U & M14 032
= = 19 de
183 X1 * B(A) eep 66.7
203 14 (36%) X
315 \
375

* For MA- and EM-control




RE 92100/05.11 | A4VSG Series 10, 11 and 30

Dimensions size 180

Bosch Rexroth AG

23/68

Before finalizing your design, request a binding
installation drawing. Dimensions in mm.

Drive shafts
P Keyed to DIN 6885 Z Splined shaft to DIN 5480
AS14x9x80 W50x2x24x9g
36 36

12 al

= FruEn =1 12

NI 15 <

© ©

T it s -
ol 88 =
== -
To}
Q | —
45
82 54
Ports
Designation | Port for Standard  Size? Maximum State
pressure
[bar]®

AB Service line (pressure port) SAE J5184 1 1/4 in (high-pressure series) 400 0]

Fastening thread A/B DIN 13 M14 x 2; 19 deep (@)
Ma, Mg Measuring operating pressure A/B DIN 3852 M14 x 1.5; 12 deep 400 X
T Drain DIN 38525 M33 x 2; 18 deep 4 X8)
E Boost pressure inlet DIN 3852 M22 x 1.5; 14 deep 50 (0]
Ko, K3 Fill + air bleed DIN 38525 M33 x 2; 18 deep X6
R(L) Tank line (case drain port) 0o)
U Bearing flushing DIN 38525 M14 x 1.5; 12 deep 7 X

1) Center bore according to DIN 332 (thread according to DIN 13)

2) Observe the general instructions on page 68 for the maximum tightening torques.
3) Momentary pressure spikes may occur depending on the application. Keep this in mind when selecting measuring devices and fittings.
4) Only dimensions according to SAE J518, metric fastening thread is a deviation from standard.
5) The countersink may be deeper than specified in the standard.

6) Depending on the installation position, T, Ko, K3 or R(L) must be connected (see also pages 66 and 67)

O= Must be connected (plugged on delivery)
X = Plugged (in normal operation)



24/68 Bosch Rexroth AG A4VSG Series 10, 11 and 30 | RE 92100/05.11

. . . Before finalizing your design, request a binding
DI menSIOnS Slze 250 installation drawing. Dimensions in mm.
Series 3

Example: HM control; for exact dimensions of the control device, see separate data sheets

R(L) (485)
® ﬁﬁ (] ™}
30 __r<> % MB
I @_@J}
-~ @Eg@
" = 9B %
U Ko (oA &
3 B ‘ @63@ o
sl hati
T |
8
10 150 Ma 265
450 A
Flange 224, 4-hole 138
based on
ISO 3019-2 (metric) E
B B X2 View X
< /:J_l
- }ﬁ @. ﬁ
o R é | B R @_EJ B
: L@ g A
ik e ! 3 87 o9 »
s B Y/ — 3 {%
i = R(L) I =
. — < \ 21\1/|13‘ 038
U ek ! eep | 794
4 xi A\ B
X
17 (47%)
248
386 |
443

* For HM1-, EO1, MA- and EM-control




RE 92100/05.11 | A4VSG Series 10, 11 and 30

Dimensions size 250

Bosch Rexroth AG

25/68

Before finalizing your design, request a binding
installation drawing. Dimensions in mm.

Drive shafts
P Keyed to DIN 6885 Z Splined shaft to DIN 5480
AS18x11x100 W60x2x28x9g
= 42 o~ 42
=115 =
e K
o 78 8
gg- 27 = -
eI | £ = i
[(e}
8 —
59
105 70
Ports
Designation | Port for Standard  Size? Maximum State
pressure
[bar]®
AB Service line (pressure port) SAE J5184 1 1/2 in (high-pressure series) 400 (0]
Fastening thread A/B DIN 13 M16 x 2; 21 deep (0]
Ma, Mg Measuring operating pressure A/B DIN 3852 M14 x 1.5; 12 deep 400 X
T Drain DIN 38525 M42 x 2; 20 deep 4 X8)
E Boost pressure inlet DIN 3852 MS33 x 2; 18 deep 50 (0]
Ko, K3 Fill + air bleed DIN 38525 M42 x 2; 20 deep X6
R(L) Tank line (case drain port) 0o)
U Bearing flushing DIN 38525 M14 x 1.5; 12 deep 7 X

1) Center bore according to DIN 332 (thread according to DIN 13)

2) Observe the general instructions on page 68 for the maximum tightening torques.
3) Momentary pressure spikes may occur depending on the application. Keep this in mind when selecting measuring devices and fittings.
4) Only dimensions according to SAE J518, metric fastening thread is a deviation from standard.
5) The countersink may be deeper than specified in the standard.

6) Depending on the installation position, T, Ko, K3 or R(L) must be connected (see also pages 66 and 67)

O= Must be connected (plugged on delivery)
X = Plugged (in normal operation)



26/68

Bosch Rexroth AG

Dimensions size 355

Series 3

Before finalizing your design, request a binding
installation drawing. Dimensions in mm.

Example: HM control; for exact dimensions of the control device, see separate data sheets

A4VSG Series 10, 11 and 30 | RE 92100/05.11

R(L)
@ 174
30 _J (}@1% MB
g | o il
| @<> @}
R C e
U K2 @A 9
2 - ‘ o @} _
Sug— i
8 T l
10] 150 Ma
Flange 224, 4-hole
based on 145 E
ISO 3019-2 (metric) X2
QR
: RSO IO
9 G o G
1 . ol g
= - R(L) H
U I
& x4 B
248 17 X
393 \
464

(485)

265

D
il
265
450 A
View X

50.550.5




RE 92100/05.11 | A4VSG Series 10, 11 and 30

Dimensions size 355

Bosch Rexroth AG 27/68

Before finalizing your design, request a binding
installation drawing. Dimensions in mm.

Drive shafts
P Keyed to DIN 6885 Z Splined shaft to DIN 5480
AS20x12x100 W70x3x22x9g
= 42 o~ 42
0| ——=— 21 15
| 45 P
g 3
S = M = -
o §5 7 g
NS [l 1. \% —
[N
Q p—
69
105 82
Ports
Designation | Port for Standard  Size? Maximum State
pressure
[bar]®
AB Service line (pressure port) SAE J5184 1 1/2 in (high-pressure series) 400 0]
Fastening thread A/B DIN 13 M16 x 2; 21 deep (@)
Ma, Mg Measuring operating pressure A/B DIN 3852 M14 x 1.5; 12 deep 400 X
T Drain DIN 38525 M42 x 2; 20 deep 4 X8)
E Boost pressure inlet DIN 3852 M33x 2; 18 deep 50 (@)
Ko, K3 Fill + air bleed DIN 38525 M42 x 2; 20 deep X6
R(L) Tank line (case drain port) 0o)
u Bearing flushing DIN 38525 M18 x 1.5; 12 deep 7 X

1) Center bore according to DIN 332 (thread according to DIN 13)

2) Observe the general instructions on page 68 for the maximum tightening torques.
3) Momentary pressure spikes may occur depending on the application. Keep this in mind when selecting measuring devices and fittings.
4) Only dimensions according to SAE J518, metric fastening thread is a deviation from standard.
5) The countersink may be deeper than specified in the standard.

6) Depending on the installation position, T, Ko, K3 or R(L) must be connected (see also pages 66 and 67)

O= Must be connected (plugged on delivery)
X = Plugged (in normal operation)



28/68 Bosch Rexroth AG

Dimensions size 500

Series 3

A4VSG Series 10, 11 and 30 | RE 92100/05.11

Before finalizing your design, request a binding

installation drawing. Dimensions in mm.

Example: HM control; for exact dimensions of the control device, see separate data sheets

Flange 315, 8-hole

R(L)
16+5_
1B .
3 L/
28 e |
S/
_\
~
e
\W
-
47| 155
50 435

Transport thread for

o

()]
K2
ﬁ

o

[e)]

< 2
N
[S]

190

eye bolt M16 x 2; 27 deep DIN

189

2315-0.081

based on 580
ISO 3019-2 (metric) 146
16
\otre
I 1 © T
© I ﬂ/__ — -
2 § &#k \ sy _f
S ® A \/m |3 3
L \__g O = o
I RO | ) ¢
& { © L
30 =
[j * B(A)
279 50 X
510

60+6O

| 445

QM@

4

—elonel
>

250

24 deep

96.8




RE 92100/05.11 | A4VSG Series 10, 11 and 30

Dimensions size 500

Bosch Rexroth AG

29/68

Before finalizing your design, request a binding
installation drawing. Dimensions in mm.

Drive shafts
P Keyed to DIN 6885 Z Splined shaft to DIN 5480
AS22x14x125 W80x3x25x9g
= 42 o~ 42
115 ";
9 3 T <l 15
S S
S-S M = -
ol 35 71
L ==z -
[o 0]
2 | —
76
130 90
Ports
Designation | Port for Standard  Size? Maximum State
pressure
[bar]®
A B Service line (pressure port) SAE J5184 2 in (high-pressure series) 400 (0]
Fastening thread A/B DIN 13 M20 x 2.5; 24 deep (0]
Ma, Mg Measuring operating pressure A/B DIN 3852 M18x 1.5; 12 deep 400 X
T Drain DIN 38525 M48 x 2; 20 deep 4 X8)
E Boost pressure inlet DIN 3852 M33x 2; 18 deep 50 (0]
Ko, K3 Fill + air bleed DIN 38525 M48 x 2; 20 deep X6
R(L) Tank line (case drain port) 0o
U Bearing flushing DIN 38525 M18 x 1.5; 12 deep 7 X

1) Center bore according to DIN 332 (thread according to DIN 13)
2) Observe the general instructions on page 68 for the maximum tightening torques.
3) Momentary pressure spikes may occur depending on the application. Keep this in mind when selecting measuring devices and fittings.
4) Only dimensions according to SAE J518, metric fastening thread is a deviation from standard.
5) The countersink may be deeper than specified in the standard.
6) Depending on the installation position, T, Ko, K3 or R(L) must be connected (see also pages 66 and 67)

O= Must be connected (plugged on delivery)

X = Plugged (in normal operation)



30/68

Bosch Rexroth AG

Dimensions size 750

Series 3

Example: HM control; for exact dimensions of the control device, see separate data sheets

A4VSG Series 10, 11 and 30 | RE 92100/05.11

Before finalizing your design, request a binding
installation drawing. Dimensions in mm.

(630)

==

g N

K2

232

Transport thread for

222

232

eye bolt M16 x 2; 27 deep DIN

R(L)
1645 =
13
f@f\ _ Ms
I [ [N
IS e|— ]@ B
™| & » L a
id el
NPAY
K2 T
L N
M~ id &
NA &
IR lV
Ma
47| 161
50 591
Flange 400, 8-hole
based on 580
ISO 3019-2 (metric) 178.5
16 '
U E
' Twins
— N )
8 Ryl <] / I S
g a8 O:ILg N -& 7
g4 8 AT o Pl B
Sy L\ M — | o
o R—
L 1 & p @ |
32 * B(A)
301 50 X
478 ‘

View X
B
e
By €e
Sy .
M20 250




RE 92100/05.11 | A4VSG Series 10, 11 and 30

Dimensions size 750

Bosch Rexroth AG

31/68

Before finalizing your design, request a binding
installation drawing. Dimensions in mm.

Drive shafts
P Keyed to DIN 6885 Z Splined shaft to DIN 5480
AS25x14x125 W90x3x28x9g
50 50
18 l
= | ——= — 18
®| 45 ?
< <
2ol-S I = -
o2 !
8% L -
[e2]
= B —
91
130 105
Ports
Designation | Port for Standard  Size? Maximum State
pressure
[bar]®
AB Service line (pressure port) SAE J5184 2 in (high-pressure series) 400 0]
Fastening thread A/B DIN 13 M20 x 2.5; 24 deep (@)
Ma, Mg Measuring operating pressure A/B DIN 3852 M18 x 1.5; 12 deep 400 X
T Drain DIN 38525 M48 x 2; 20 deep 4 X8)
E Boost pressure inlet DIN 3852 M48 x 2; 20 deep 50 (0]
Ko, K3 Fill + air bleed DIN 38525 M48 x 2; 20 deep X6
R(L) Tank line (case drain port) 0o)
U Bearing flushing DIN 38525 M18 x 1.5; 12 deep 7 X

1) Center bore according to DIN 332 (thread according to DIN 13)
2) Observe the general instructions on page 68 for the maximum tightening torques.
3) Momentary pressure spikes may occur depending on the application. Keep this in mind when selecting measuring devices and fittings.
4) Only dimensions according to SAE J518, metric fastening thread is a deviation from standard..
5) The countersink may be deeper than specified in the standard.
6) Depending on the installation position, T, Ko, K3 or R(L) must be connected (see also pages 66 and 67)

O= Must be connected (plugged on delivery)
X = Plugged (in normal operation)



32/68 Bosch Rexroth AG A4VSG Series 10, 11 and 30 | RE 92100/05.11

Di menSionS Size 1 OOO Before finalizing your design, request a binding

installation drawing. Dimensions in mm.

Series 3

Example: HM control; for exact dimensions of the control device, see separate data sheets

R(L) (670)
16+5 ‘ T
13 ™
p N
o [
33 VAR N 2 .
B 8
T
7>
K2
L . 8
b o N
\
- T
47 203
150 655
Transport thread for
Flange 400, 8-hole eye bolt M20 x 2.5; 30 deep DIN
based on 185 580
ISO 3019-2 (m%ric) U E View X
. — 250
T t © Mewh B
D | |
— — N O
8o /! ® 8 6733
3|0 B PN 1
a8 eyl o/ _ o So0) ®
398 LA 0% ol P @ ey
— - Te}
q;_\l @/‘(L) -i'|— 8 ;\
N — 4
] fa—y | ()]
35 * B(A)
X
360 51 ‘
543




RE 92100/05.11 | A4VSG Series 10, 11 and 30

Dimensions size 1000

Bosch Rexroth AG 33/68

Before finalizing your design, request a binding
installation drawing. Dimensions in mm.

Drive shafts
P Keyed to DIN 6885 Z Splined shaft to DIN 5480
AS28x16x160 W100x3x32x9g
50 50
18 g
== | 18
@ 45 @
< <
— N _ N
82 = I =
©o| 53 ]
e g = 1
E L
91
165 105
Ports
Designation | Port for Standard  Size? Maximum State
pressure
[bar]®
A'B Service line (pressure port) SAE J5184 2 in (high-pressure series) 400 0]
Fastening thread A/B DIN 13 M20 x 2.5; 30 deep (@)
Ma1, Mg4 Measuring operating pressure DIN 3852 M18 x 1.5; 12 deep 400 X
T Drain DIN 38525 M48 x 2; 20 deep 4 X8)
E Boost pressure inlet DIN 3852 M48 x 2; 20 deep 50 (@)
Ko, K3 Fill + air bleed DIN 38525 M48 x 2; 20 deep X6
R(L) Tank line (case drain port) 0o)
U Bearing flushing DIN 38525 M18 x 1.5; 12 deep 7 X

1) Center bore according to DIN 332 (thread according to DIN 13)
2) Observe the general instructions on page 68 for the maximum tightening torques.

3) Momentary pressure spikes may occur depending on the application. Keep this in mind when selecting measuring devices and fittings.
4) Only dimensions according to SAE J518, metric fastening thread is a deviation from standard.

5) The countersink may be deeper than specified in the standard.

6) Depending on the installation position, T, Ko, K3 or R(L) must be connected (see also pages 66 and 67)

O= Must be connected (plugged on delivery)
X = Plugged (in normal operation)



34/68 Bosch Rexroth AG

Through drive

The A4VSG axial piston unit can be delivered with a through
drive, as shown in the type code on page 3.

The through drive version is designated by codes K 31
through 99.

The maximum number of units in a combination pump is deter-
mined by the permissible mass bending moment, see page 35.

Single pump with through drive

If no further pumps are factory-mounted the simple type code
is sufficient.

The delivery contents include:

For all through drives except for K 99
Coupling, fixing screws, seal and, if applicable, an intermediate
flange

For K99
With through-drive shaft, without coupling, without intermedi-
ate flange; unit is closed fluid tight with pressure-tight cover.

A4VSG Series 10, 11 and 30 | RE 92100/0511

Combination pumps

Independent circuits are available for the user when further
pumps are built on.

1. If the combination pump consists of 2 Rexroth axial piston
units and these are to be supplied pre-assembled, the two
model designations are to be linked with "+".

Ordering example:
A4VSG 125 EO1/ 30 R - PPB10K339F + A4VSG 71
HM1 /10 R - PZB10ONOOON

2. If a gear pump is to be factory mounted as attachment
pump, please contact us.

3. Mounted and piped auxiliary pumps (see page 54)
Depending on the application, various auxiliary pumps and/
or piping are available.

Ordering example: A4VSG 125 EO1 / 30R - PPB10HO29F
A4VSG with a mounted auxiliary pump piped for the boost
circuit.

A4VSG 71EO1/10R - PPB10 HO69F
A4VSG with two mounted auxiliary pumps; one is piped for
the boost circuit and the other for the control circuit.

Note for control units HD.P, HD.T and HD.U:

For combination pump in tandem design A4 + A4, some
combinations may result in dimensional restrictions for the
mounting of the power control valve or proportional pressure
relief valve.

In the following cases, we recommend to carry out the valve
mounted on the rear pump or to consult us:

NG40 + NG40

NG?71 with pressure control  + NG71



RE 92100/05.11 | A4VSG Series 10, 11 and 30 Bosch Rexroth AG  35/68
Permissible mass bending moment of inertia
Relative to the mounting flange of the main pump
]
f S ( ]
E%m% E . mp 7 my, mg [kgl  Weight of pump
‘ _|__ L Iy, 1o [mm] Distance center of gravity
u }— —
——
T = o| . + o| . N
y m=my el -0 molpe o0 [Nm]
D)
Size 40 4l 125 180 250 355 500 750 1000
Permissible mass moment Trmperm. Nm 1800 2000 4200 4200 9300 9300 15600 19500 19500
Permissible mass moment at
dynam. acceleration Trmperm.  Nm 180 200 420 420 930 930 1560 1950 1950
10 g £ 98.1 m/sec?
Weight (A4VSG...EO2...9) m kg 47 60 100 114 214 237 350 500 630
Distance center of gravity 4 mm 120 140 170 180 210 220 230 260 290




36/68 Bosch Rexroth AG

A4VSG Series 10, 11 and 30 | RE 92100/0511

Overview of mounting options on A4VSG

Through drive - A4VSG Mounting option of 2nd pump Z:;Zugh
Flange Coupling for Code | A4VSO/G A4CSG  A10V(S)0O/31(2)°) A10V(S)O/52(3) Externallinter- | available
splined shaft NG (shaft) NG (shaft) NG (shaft) NG (shaft) nal gear pump | for NG
Flange ISO 3019-2 (metric)
80, 2-hole  19-4 (3/4in, 11T)3 KB2 - - 18 (S)/31 10 (S) - 71,125
100, 2-hole  22-4 (7/8in, 13T)3)  KB3 - - 28 (S)/31 - - 40 to 180
25-4 (1in, 15T)3) KB4 - - 45 (S)/31 - - 40 to 500
125, 2-hole  32-4 (1 1/4in, 14T)3) KB5 - - 71 (S)/31 - - 71 to 500
38-4 (1 1/2in, 17T)® KB6 - - 100 (S)/31 - - 125 to 750
125, 4-hole W 32x2x14x9g? K31 40 (2) - - - - 40 to 500
140, 4-hole W 40x2x18x992) K33 71 (2) - - - - 71 to 1000
160, 4-hole W 50x2x24x9g? K34 125 (2) - - - - 125 to 750
180 (2) - - - - 180 to 750
32-4 (1 1/4in, 14T)® KB8 |- - 71 (S)/32 - - in preparation
180, 4-hole  44-4 (1 3/4in, 13T)3 KB7 - - 140 (S)/31/32 - - 180 to 750
38-4 (1 1/2in, 17T)® KB9 - - 100 (S)/32 - - in preparation
224, 4-hole W 60X2x28x992) K35 250 (2) 250 (2) - - - 250 to 1000
W 70x3x22x9g? K77 355 (Z) 355 (Z) - - - 355, 500
315, 8-hole W 80x3x25x9g? K43 500 (2) 500 (Z) - - - 500, 750
400, 8-hole W 90x3x28x9g? K76 750 (2) 750 (2) - - - 750, 1000
W 100x3x32x9g? K88 1000 (Z2) - - - - 1000
Flange SAE J 744 (1SO 3019-1)
822 (A 16-4 (5/8in, 913 <O [ - - - ﬁ)z(;z;] X004/ 40 16 750
19-4 (3/4in, 11T)3 K52 - - 18 (S)/31 10, 18 (S) - 40, 71, 355
101-2 (B))  20-4 (7/8in, 1373 K68 |_ - 28 (S)/31 28 (S) QZ(')Z';;; %020 40 16 750
25-4 (1in, 15T)3) K04 - - 45 (S)/31 45 (S) PGH4 40 to 500
127-2 (C) Y 32-4 (1 1/4in, 14T)® KO7 |- - 71 (S)/31 - - 71 to 1000
38-4 (1 1/2in, 17T)3) K24 - - 100 (S)/31 85 (S) PGH5 125 to 1000
152-4 (D) 44-4 (1 3/4in, 13T)3 K17 - - 140 (S)/31 - - 180 to 750

1) 2 = 2-hole, 4 = 4-hole
2) According to DIN 5480

4

)
)
)
)

3) Splined shafts acc. to SAEJ744 OCT83

Bosch Rexroth recommends special versions of the gear pumps. Please contact us.
5) If a through drive for an A10V(S)O with R-shaft is desired, please contact us.



RE 92100/05.11 | A4VSG Series 10, 11 and 30 Bosch Rexroth AG  37/68

Notes



38/68 Bosch Rexroth AG A4VSG Series 10, 11 and 30 | RE 92100/05.11

Combination pumps dimensions oetalaton crasing. Dimenions m .

A4VSG + A4VSG

s r% :fij
M T
E % 1':‘143{%% (E% Qﬁg\éﬁgp 1
_ =
I _‘7?
—————
A
Overall length A
A4VSG A4VSG (2nd pump)
(1st pump) NG40 NG71 NG125 NG180 NG250 NG355 NG500 NG750 NG1000
NG40 570 - - - - - - -
NG71 598 622 - - - - - -
NG125 655 679 743 - - - - -
NG180 679 703 766 778 - - - -
NG250 713 737 832 844 912 - - -
NG355 * 766 861 873 941 962 - -
NG500 * 811 868 880 984 1005 1100 -
NG750 * * * * 1034 * * 1246
NG1000 * 934 * * 1107 * * 1319 1383

* on request



RE 92100/05.11 | A4VSG Series 10, 11 and 30

Combination pumps dimensions
A4VSG +

-/__‘='=_,

A4VSO

Bosch Rexroth AG 39/68

Before finalizing your design, request a binding
installation drawing. Dimensions in mm.

| 2o
n =
e e T
="
I
A
Overall length A
A4VSG A4VSO (2nd pump)
(1st pump) NG40 NG71 NG125 NG180 NG250 NG355 NG500 NG750 NG1000
NG40 554 - - - - - - -
NG71 582 611 - - - - - -
NG125 639 668 735 - - - - -
NG180 663 692 758 778 - - - -
NG250 697 726 824 844 904 - - -
NG355 * 755 853 873 933 962 - -
NG500 * 800 860 880 976 1005 1110 -
NG750 * * * * 1026 * * 1215
NG1000 * 923 * * 1099 * * 1288 1361

* on request



40/68 Bosch Rexroth AG A4VSG Series 10, 11 and 30 | RE 92100/0511

Before finalizing your design, request a binding

Com bi n atio n p U m pS d i m e n Sions installation drawing. Dimensions in mm.

A4VSG + A10VSO

Y — j
i \ >
El s — (= amse
! =
e — ———
A
Overall length A
A4VSG A10VSO.../31 (2nd pump)
(1st pump) NG18 NG28 NG45 NG71 NG100 NG140
NG40 * 496 * - - -
NG71 * * 540 578 - -
NG125 * 584 * 635 707 732
NG180 * * 595 659 731 756
NG250 * 637 655 688 780 *
NG355 * * * 717 809 835
NG500 * * * 762 834 *
NG750 * * * * 884 917
NG1000 x * * * * *

* on request



RE 92100/05.11 | A4VSG Series 10, 11 and 30 Bosch Rexroth AG 41/68

Before finalizing your design, request a binding

Th rO U g h d rive d i m e nSiO n S installation drawing. Dimensions in mm.

K31 Flange ISO 3019-2 125, 4-hole
Shaft coupler to DIN 5480 N32x2x14x8H
for mounting an A4VSO/G 40 splined shaft

NG A As Ay As Ag?
M-N 40 |288 125 414 10 M12
4! 316 125 336 10 M12
125 | 373 125 42 10 M12
Ay A3z
180 | 397 125 42 10 M12
—\ 250 | 431 125 379 10 M12
\_ 355 | onrequest
7| ') 500 | onrequest
= 750 | on request
= 5q 1000 | on request
2 1N [ %3 NG |A;  Ag
o 40 |- -
Q
peg|= n_ |- -
a - 125 |- -
180 | - -
250 10 200
450 ‘ A 355 | on request
S 500 | onrequest
N _>| A+ to mounting face ‘ Az 750 | on request
1000 | on request
K33 Flange ISO 3019-2 140, 4-hole
Shaft coupler to DIN 5480 N40x2x18x8H
for mounting an A4VSO/G 71 splined shaft
M- N NG (A, A; A, As A2
n 316 12 44 9 M12
125 | 373 125 50 10 M12
A4 Az 180 (397 125 438 10 M12
250 | 431 125 49 10 M12
355 | 460 125 49 10 M12
= " 500 (505 125 44 10  M12
F-%% 750 | on request
| 1000 | 628 125 645 10 M12
el S8
P ,{ —I s3 NG [A; A
= S |- -
% s 125 |- -
= g 180 | - -
250 |10 200
355 |- -
450 500 |- -
As 750 | on request
N _>| A1 to mounting face A7 1000 | 27 280

1) Fastening screws and O-ring seal are included in the delivery contents.
2) Thread according to DIN 13, observe the general instructions on page 68 for the maximum tightening torques.



42/68 Bosch Rexroth AG

Through drive dimensions

K34 Flange ISO 3019-2 160, 4-hole
Shaft coupler to DIN 5480 N50x2x24x8H

for mounting an A4VSO/G 125 or 180 splined shaft

M-N

As A3z

A4VSG Series 10, 11 and 30 | RE 92100/0511

Before finalizing your design, request a binding
installation drawing. Dimensions in mm.

N N

e

oo
T+

[
:

\N—_—

2160

950 As
A1 to mounting face
N =
K35 Flange ISO 3019-2 224, 4-hole
Shaft coupler to DIN 5480 N60x2x28x8H
for mounting an A4VSO/G or A4CSG 250 splined shaft
M-N
Ag A3z

T
+0.10
0224 +0.03

A1 to mounting face

%

As

N =

NG | A As Ay As Ag?
125 |380 125 58 10 M16
180 (403 125 58 10 M16
250 (469 125 60 10 M16
355 (498 125 60 10 M16
500 |505 125 60 10 M16
750 | onrequest

1000 | on request

NG |Ar  As Ay A5 A

250 |[469 125 75 9 M20
355 |[498 125 75 9 M20
500 | 541 125 74 10 M20
750 (591 125 74 10 M20
1000 (664 125 695 10 M20

1) Fastening screws and O-ring seal are included in the delivery contents
2) Thread according to DIN 13, observe the general instructions on page 68 for the maximum tightening torques.



RE 92100/05.11 | A4VSG Series 10, 11 and 30

Through drive dimensions

K77 Flange ISO 3019-2 224, 4-hole
Shaft coupler to DIN 5480 N70x3x22x8H
for mounting an A4VSO/G or A4CSG 355 splined shaft

Bosch Rexroth AG 43/68

Before finalizing your design, request a binding
installation drawing. Dimensions in mm.

A4 A3 Ay A5 A62)
498 125 82 9 M20

541 125 82 10 M20

on request

on request

A1 A3 A4 A5 AGQ)
500 535 719 19 M20

on request

NG
M-N 355
500
Ag As
As 750
o 1000
— |

E e8

oo

{ ++

B — 1 <

N

N

Q

As
A1 to mounting face
N =
K43 Flange ISO 3019-2 315, 8-hole
Shaft coupler to DIN 5480 N80x3x25x8H
for mounting an A4VSO/G or A4CSG 500 splined shaft
NG
M-N 500
750
M - Ay Az 1000

on request

A1 to mounting face

1) Fastening screws and O-ring seal are included in the delivery contents.

2) Thread according to DIN 13, observe the general instructions on page 68 for the maximum tightening torques.



44/68 Bosch Rexroth AG

Through drive dimensions

K76 Flange ISO 3019-2 400, 8-hole
Shaft coupler to DIN 5480 N90x3x28x8H
for mounting an A4VSO/G, A4CSG 750 splined shaft

M-N

M A Ao

~

A4VSG Series 10, 11 and 30 | RE 92100/0511

Before finalizing your design, request a binding
installation drawing. Dimensions in mm.

NG |Ay As A, As A2
750 655 104 53 19 M20
1000 | 728 109 53 19 M20

NN
\

o
L

+0.10
+0.03

2400

v

As

Aj to mounting face

N =i

K88 Flange ISO 3019-2 400, 8-hole
Shaft coupler to DIN 5480 N100x3x32x8H
for mounting an A4VSO/G 1000 splined shaft

M-N

M - 106 _53

728 to mounting face

1) Fastening screws and O-ring seal are included in the delivery contents.

2) Thread according to DIN 13, observe the general instructions on page 68 for the maximum tightening torques.



RE 92100/05.11 | A4VSG Series 10, 11 and 30 Bosch Rexroth AG  45/68

Before finalizing your design, request a binding

Th rO U g h d rive d i m e nSiO n S installation drawing. Dimensions in mm.

KB3 Flange ISO 3019-2 100, 2-hole
Shaft coupler for splined shaft 22-4 SAE B, 7/8 in, 16/32 DP; 13 T®
for mounting an A10VSO 28/31 splined shaft S (see RE 92711)

M- N NG (A, As A, A5 A
40 290 204 23 10 M12
A4 As 4 on request
125 378 203 245 10 M12
AN 180 | on request
\7 1 250 [431 205 23 10  Mi2
A a ) 355 | on request
I 500 | onrequest
A
88 750 | on request
o
< -1 9,5 1000 | on request
st
®

% NG A; Ag
40 - -
U

7 on request
s 125 | - -
2140 180 | on request
250 |10 200
450 A5

355 | onrequest

A1 to mounting face Az 500 | onrequest

N 750 | onrequest

1000 | on request

KB4 Flange ISO 3019-2 100, 2-hole
Shaft coupler for splined shaft 25-4 SAE B-B, 1 in, 16/32 DP; 15 T3
for mounting an A10VSO 45/31 splined shaft S — see RE 92711

M - N NG A1 A3 A4 A5 Asz)
40 on request
As n 316 208 275 8 M12

125 | on request
180 |371 218 279 10 M12
250 (431 209 275 10 M12
355 | onrequest
500 | onrequest

[\

750 | onrequest
B | 1000 | on request
NG A7 As
40 on request
4 - -
125 | on request
2140 180 |- -
‘ 250 |10 200
50 As 355 | on request
A1 to mounting face ‘ A7 500 | onrequest
| 750 | onrequest
N 1000 | on request

1) 2 fastening screws and O-ring seal are included in the delivery contents
2) Thread according to DIN 13, observe the general instructions on page 68 for the maximum tightening torques.
3) According to ANSI B92.1a, 30° pressure angle, flat root, side fit, tolerance class 5



46/68 Bosch Rexroth AG A4VSG Series 10, 11 and 30 | RE 92100/0511

Before finalizing your design, request a binding

Th rO U g h d rive d i menSiO nS installation drawing. Dimensions in mm.

KB5 Flange ISO 3019-2 125, 2-hole
Shaft coupler for splined shaft 32-4 SAE C, 1 1/4 in, 12/24 DP; 14 T3
for mounting an A10VSO 71/31 splined shaft S — see RE 92711

NG [A  A; Ay As A&
M-N 4l 321 231 381 10 M16
125 | 378 237 381 10 M16
180 |[402 237 381 10 M16
Aq As 250 431 22 361 10 M16
1) 355 | 460 22 361 10 M16
e 500 |505 19.3 404 10 M16
—H 750 | on request
o ~ 1000 | on request
o9
®© i L1 [} 2
< "o NG |A; Ag
% o
I S 71 —_ _
‘ 125 |- -
| = 180 |- -
' \‘ 250 10 200
450 NG 250 to 500 As 355 |- _
A1 to mounting face \ A7 500 | - -
! ‘ 750 | on request
N = q
1000 | on request

KB6 Flange ISO 3019-2 125, 2-hole
Shaft coupler for splined shaft 38-4 SAE C-C, 1 1/2 in, 12/24 DP; 17 T3
for mounting an A10VSO 100/31 — see RE 92711

NG A4 Az As As Ag?

M- N 125 (378 114 54 10 Mi16
180 [402 114 54 10 Mi16
M = r NG 500 and 750 250 451 11 571 10  Mi16
! o an Ad _ _As 355 (480 11 571 10 M6
180 500 |505 11 56 10  M16
T ) 750 [555 11 56 10  Mi16
1000 | on request

59

Ea

Te]

N

®

As

A1 to mounting face

1) 2 fastening screws and O-ring seal are included in the delivery contents
2) Thread according to DIN 13, observe the general instructions on page 68 for the maximum tightening torques.
3) According to ANSI B92.1a, 30° pressure angle, flat root, side fit, tolerance class 5



RE 92100/05.11 | A4VSG Series 10, 11 and 30 Bosch Rexroth AG  47/68

Before finalizing your design, request a binding

Th rO U g h d rive d i menSionS installation drawing. Dimensions in mm.

KB7 Flange ISO 3019-2 180, 4-hole
Shaft coupler for splined shaft 44-4 SAE D, 1 3/4 in, 8/16 DP; 13 T3
for mounting an A10VSO 140/31/32 splined shaft S — see RE 92711 (RE 92714)

NG | A, A3z A, As Ag?

M-N 125 | 395 105 45 10 M16
180 | 419 105 45 10 M16
As As 250 | on request

for NG 500 to 750
355 | 498 11 69.3 10 M16

O 1) 500 | onrequest
750 |580 11 63 10 M16
1000 | on request

+0.07
+0.02

2180

As

A1 to mounting face

Kot Flange ISO 3019-1 82-2 (SAE A)
Shaft coupler for splined shaft 16-4 SAE A, 5/8 in, 16/32 DP; 9T
for mounting an external gear pump AZ-PF-1X-004...022 (see RE 10089)
Bosch Rexroth recommends a special version of the gear pumps, please contact us

NG |[Ay As A, As A

M- N 40 |263 9 259 10  MIO
for NG 180 o 500 714|291 105 254 10  M10
A4 As 125 [347 103 28 10  M10

180 | 371 9 28 10 M10

250 [431 9 30 10 M10

+0.05
-0.02

355 |460 10 30 10 M10

500 |505 10 33 10 M10

750 |555 10 33 10 M10

—
Al
282.55

1000 | on request

@ _ —}- JE — n | 1=
< % NG [A; Ag
40 18 130
4 ) 71 15 140
125 13 150
180 |- -
250 |10 200
950 As 355 |- -
A+ to mounting face Az 500 |- -
| 750 |- -
N == 1000 | on request

1) 2 or 4 fastening screws and O-ring seal are included in the delivery contents
2) Thread according to DIN 13, observe the general instructions on page 68 for the maximum tightening torques.
3) According to ANSI B92.1a, 30° pressure angle, flat root, side fit, tolerance class 5



48/68 Bosch Rexroth AG A4VSG Series 10, 11 and 30 | RE 92100/0511

Before finalizing your design, request a binding

Th rO U g h d rive d i m e n SiO nS installation drawing. Dimensions in mm.

K52 Flange ISO 3019-1 82-2 (SAE A)
Shaft coupler for splined shaft 19-4 SAE A-B, 3/4 in, 16/32 DP; 11T 3
for mounting an A10VSO 18/31 splined shaft S (see RE 92711)
or A10VSO 10/52 or 18/53 splined shaft S (see RE 92703)

NG |Ay As Ay As A2

40 on request

M-N 71 on request

A4 As 125 | on request

180 | onrequest

O § g 250 | onrequest
N N 355 460 11 324 10  MI10

~ 2‘ 500 | onrequest

J/ (=B 8 750 | on request

) 1000 | on request

o

As

A1 to mounting face

N -

K68 Flange ISO 3019-1 101-2 (SAE B)
Shaft coupler for splined shaft 22-4 SAE B, 7/8 in, 16/32 DP; 13T 3
for mounting an external gear pump AZ-PN-1X020...032 (see RE 10091) or an A10VO 28/31 and 52(53) splined shaft S
(see RE 92701 and 92703) Bosch Rexroth recommends special versions of the gear pumps, please contact us

NG | A As A, As Ag?

M-N 40 [290 M 332 10  Mi12
for NG 250 to 500 71 322 1 344 10 M12
As, _As 125 |347 11 353 10  M12
‘ 180 | 371 11 387 10  Mi12
for NG 40 \\ 250 |431 205 294 10  Mi2
and 71 and I 355 |460 192 329 10 Mi12
180 to 500 500 |505 11 41 10 M12
[ 8y 750 | on request
ETZ— 29 1000 | on request
< --H—-1HE ©
b NG [A; Ag
% S 40 |- _
% 71 - -
125 |13 150
180 |- -
0146 250 [10 200
450 ‘A5 355 |- -
A1 to mounting face ‘ A7 500 |- -
: 750 | on request
N = 1000 | on request

1) 2 fastening screws and O-ring seal are included in the delivery contents
2) Thread according to DIN 13, observe the general instructions on page 68 for the maximum tightening torques.
3) According to ANSI B92.1a, 30° pressure angle, flat root, side fit, tolerance class 5



RE 92100/05.11 | A4VSG Series 10, 11 and 30 Bosch Rexroth AG  49/68

Before finalizing your design, request a binding

Th rO U g h d rive d i menSionS installation drawing. Dimensions in mm.

K04 Flange ISO 3019-1 101-2 (SAE B)
Shaft coupler for splined shaft 25-4 SAE B-B, 1 in, 16/32 DP; 15T 3
for mounting an A10VO 45/31 and /52 (53) splined shaft S (see RE 92701 and 92703) or an
internal gear pump PGH4 (see RE 10223)

NG A, As A, As Ag?
M-N 40 on request
for NG 180 to 500
A4 As 71 322 11 351 10 M12
M —= 125 [379 124 375 10  Mi2
i As — 180 [371 11 353 10  M12
: for \ 250 | 431 11 414 10 M12
NG 125 i 355 (460 11 414 10  M12
to 500 500 [505 11 44 10  Mi2
— % 88 750 | on request
© I Ea 1000 | on request
< Tl «
) NG |A; As
% e 40 |18 130
| = 71 - -
| | 125 |- -
0146 1 180 |- -
‘ 250 10 200
450 As 355 |- -
A1 to mounting face ‘ A7 500 |- -
. ‘ 750 | on request
N —= 1000 | on request
Ko7 Flange ISO 3019-1 127-2 (SAE C)
Shaft coupler for splined shaft 32-4 SAE C, 1 1/4 in, 12/24 DP; 14 T
for mounting an A10VO 71/31 splined shaft S (see RE 92701)
NG A, As Ay As Ag?
M-N 71 on request
for NG 500 to 1000 Aq As 125 377 104 50 13 M16
180 401 10.4 50 13 M16
250 | 431 104 51 13 M16
A 355 |460 10.4 51 13 M16
A//4B 500 505 11.3 517 13  Mi6
for =i 750 [555 113 517 13 M16
NG 500 = S_§ 1000 [ 628 10.4 546 13 M16
o
<?:° B to 1000 — 1 +R+ NG A, As
’ 'S 71 on request
125 - -
N 180 |- -
for
NG 355 250 10 200
355 |- -
‘50 | As 500 |- -
. 750 23 250
A1 to mounting face ‘ Ay
. ‘ 1000 | 25 280
N =

1) 2 fastening screws and O-ring seal are included in the delivery contents
2) Thread according to DIN 13, observe the general instructions on page 68 for the maximum tightening torques.
3) According to ANSI B92.1a, 30° pressure angle, flat root, side fit, tolerance class 5



50/68 Bosch Rexroth AG A4VSG Series 10, 11 and 30 | RE 92100/0511

Before finalizing your design, request a binding

Th rO U g h d rive d i m e n Sio nS installation drawing. Dimensions in mm.

K24 Flange ISO 3019-1 127-2 (SAE C)
Shaft coupler for splined shaft 38-4 SAE C-C, 1 1/2 in, 12/24 DP; 17 T3
for mounting an A10VO 100/31 splined shaft S (see RE 92701) or an A10VO 85/62(53) splined shaft S
(see RE 92703) or a PGHS5 internal gear pump (see RE 10223)

NG [A, As A; As A2
M- N 125 (377 104 537 13 M6
180 [401 104 54 13  Mi16
Ar Ag 250 [451 105 576 13 M6
M = for NG 500 to 1000 355 |480 105 576 13  M16
—\. 500 [505 10.3 567 13  Mi16
N ) 750 |555 10.3 567 13  Mi16
=9 1000 (628 104 566 13  Mi16
i@ . NG [A; Ag
o 7 S| 1258 |- -
< W& N 180 |- -
S| ® 250 |- -
% 355 |- -
500 |- -
§ 750 |23 250
7‘ 1000 |25 280
As
A4 to mounting face \ Az
K17 Flange ISO 3019-1 152-4 (SAE D)

Shaft coupler for splined shaft 44-4 SAE D, 1 3/4 in 8/16 DP; 13 T®
for mounting an A10VO 140/31 splined shaft S (see RE 92701)

NG |Ar  As Ay A5 A
M-N 125 [382 104 67 13 M16
180 406 104 67 13 M16
250 |469 104 62 13 M16
As As
355 |498 105 62 13 M16
AN 1 500 530 104 636 13 M16
] 4]1 750 |580 104 636 13  M16
é =1 1000 | in preparation
o 58
= 29
1 — N
N
o 2
— 5
—
=
450 J
As
! A1 to mounting face
N =] 9

1) 2 or 4 fastening screws and O-ring seal are included in the delivery contents
2) Thread according to DIN 13, observe the general instructions on page 68 for the maximum tightening torques.
3) According to ANSI B92.1a, 30° pressure angle, flat root, side fit, tolerance class 5



RE 92100/05.11 | A4VSG Series 10, 11 and 30 Bosch Rexroth AG 51/68

Before finalizing your design, request a binding

N OteS installation drawing. Dimensions in mm.



52/68 Bosch Rexroth AG

Through drive dimensions

A4VSG Series 10, 11 and 30 | RE 92100/0511

Before finalizing your design, request a binding
installation drawing. Dimensions in mm.

K99 Sizes 40 to 355
with through-drive shaft, without shaft coupler, without adapter flange, closed with fluid-tight and pressure-tight cover
Shown without cover
M-N
M : Az A4
A1
A7 ' Ay e
As j_ﬂ
1)
£ B\ -
w| I 2 o
— I < | < < <
©
<
==
Spline profile ax A
N = to DIN 5480 | e
see table
Ag
Ats
A1 to mounting face
Ao to mounting face
Depiction shows
NG 71
NG
Main pump A A, A, As As Az As Ao Ao Ayy Aiz Ais
40 263 280 51.3#1 M12x25  37#02 37x02 O 18 9 23101 5118 210546
7 291 310 48+1 M12x25  42.3 015 45 015 15.4+015 18 9 2.7+01 3130 211646
125 347 368 49.7+1  M14x30 47 47 0 18 7 2.3+01 5137 212446
180 371 392 49.7+1 M14x30 47 47 0 18 7 2.3t01 5137 212445
250 431 458 61.4+1 M20x40 63 63 0 26 9 2.3%01 5180 216546
355 460 487 61.4+1 M20x40 63 63 0 26 9 2.3%01 5180 216546
NG Spline profile ) O-ring for retrofitting
T U Ass Ass Ass As; to DIN 5480 (not included in the delivery contents)
40 ©97.6-0.4 252 44 14 W25 x 1.25 x 18 x 9g 99x3 70SHA
Al 2106.4-0.4 263 39 16 W30 x 1.25 x 22 x 9g 110.72 x 3.63 70 SH A
125 2116-0.4 270 46 22 W35 x 1.25 x 26 x 9g 119x3 70 SHA
180 2116-04 270 57 25 W35 x 1.25 x 26 x 99 119x3 70SHA
250 0157-0.4 288 64 34.2 W42 x 1.25 x 32 x 9g 160x3 70 SHA
355 2157-0.4 288 64 34.3 W42 x 1.25 x 32 x 9g 160x3 70 SHA

Sizes 500 to 1000, see page 53




RE 92100/05.11 | A4VSG Series 10, 11 and 30

Through drive dimensions

K99 Sizes 500 to 1000

Bosch Rexroth AG 53/68

Before finalizing your design, request a binding
installation drawing. Dimensions in mm.

with through-drive shaft, without shaft coupler, without adapter flange, closed with fluid-tight and pressure-tight cover

Shown without cover
M = M-N
i
112797 112793
79 +02 O-Ring
s AR A7_ 165x3
72755 M16; 24 deep included in supply
oy C":\C') \
by S
WL o o\ § °®
o 2
o oo — ~o 3
— ol $%| *
i LS o
33 - T s
ja S
Q Ny o
— :(g F ?Bo‘- i
o S Spline profile &h 4xM16x30
70.7 X5, to DIN 5480
70.7 92 As see table 23
88%5; || 10
88153 11
! Aa| As
N~ A1 to mounting face
Ao to mounting face
NG Spline profile
Main pump A A, A; A, As As A7 to DIN 5480
500 505 520 73 4 M20; 24 deep 2115 75 W55 x 1.25 x 42 x 9g
750 555 577 73 41 M20; 24 deep o115 75 W55 x 1.25 x 42 x 9g
1000 628 653 75 50 M20; 30 deep 2142 65 W65 x 1.25 x 50 x 9g

Sizes 40 to 355 see page 52




54/68

Bosch Rexroth AG

A4VSG Series 10, 11 and 30 | RE 92100/0511

Mounted and piped auxiliary pumps H02, HO4 and HO6

Factory mounted and piped are the following auxiliary pumps:

Code

desig- |Size A4VSG 40 n 125 180 250 355 500 750 1000

nation
A piped auxiliary pump for the boost circuit

Ho2 Auxiliary pump type AZPF AZPN AZPG |PGH4 |PGH5
Size 11 16 25 [32 38 80 100 [160  |200
A common piped auxiliary pump for the boost and control circuit (only EO1 and EO1K)

Ho4 Auxiliary pump type - AZPF |AZPN |- AZPG |- - - -
Size - 16 25 - 38 - - - -
Separately piped auxiliary pumps for the boost circuit and the control circuit (only for HD1T and HD1U)
including a pressure relief valve for the control circuit ')

- Auwdiarypump 7 pe AZPN AZPG |PGH4 |PGH5
Ho6 Boost circuit type
Size 11 16 25 32 38 80 100 [160  |200
Control f“’;’"ary Pump | AzpF PGF2
circuit y_p
Size 08 1

Note: The different leakage rates of the gear pump at various speeds must be considered in all cases.

Additional technical data sheets are available for the technical data of the gear pumps:
AZPF: RE 10 089
AZPN: RE 10 091
AZPG: RE 10 093
PGF2: RE 10 213
PGH4 and PGH5: RE 10 223

Note: The AZPF, AZPN and AZPG series are special versions of gear pumps for mounting on axial piston pumps. They are

adapted to fit onto the through drive shaft end and the flange mounting pattern on axial piston pumps.

1) DB 10 K2-4X/50YV
pressure setting to 50 bar



RE 92100/05.11 | A4VSG Series 10, 11 and 30

Dimensions suction port - auxiliary pumps

Ports S, S; and S, (for selection, see page 54)
Views Z and W from pages 58 and 62

Bosch Rexroth AG

55/68

Before finalizing your design, request a binding

installation drawing. Dimensions in mm.

AZPG

o | §
R

oD
g

A13

RE 10093

PGH4, PGH5
A1 A15
o O
3o
< < ol ¢
<<
o ©
A15
RE 10223

Square flange

S, (2nd auxiliary pump - control pump)

Square flange

Square flange

Square flange

Square flange

Square flange

Square flange

Square flange

AZPF, PGF2 AZPN
5
| PO-=9% 1 B
e T '_WW o ~ o+
ﬁ% L o~ e <
5 . ul[
(A fc;r_SQ) A4 A15 — A4 A15
A2 (Atg for So) A2
(Ayg for Sy)
RE 10089 or 10213 RE 10091
Ports?
NG S, Sy
40 Square flange
4! Square flange
125 SAE 1 in (standard pressure series)
180 SAE 1 in (standard pressure series)
250 SAE 1 in (standard pressure series)
355 SAE 2 in (standard pressure series)
500 SAE 2 in (standard pressure series)
750 SAE 3 in (standard pressure series)
1000 SAE 3 in (standard pressure series)

Square flange

1) Observe the general instructions on page 68 for the maximum tightening torques.

Dimensions
(2nd auxiliary pump - control pump)

NG Aq2 Aq3 A1s A4 for S and S4 A4 for S, A4; for S, Aqg for S,
40 240 - 220 M6; 13 deep M®6; 13 deep 220 240
n 240 - 220 M6; 13 deep M6; 13 deep 220 240
125 52.4 26.2 226 M10; 14 deep M6; 13 deep 220 240
180 52.4 26.2 226 M10; 14 deep M6; 13 deep 220 240
250 52.4 26.2 226 M10; 16 deep M6; 13 deep 220 240
355 77.8 42.9 251 M12; 10 deep M6; 10 deep 220 240
500 77.8 42.9 251 M12; 10 deep M6; 10 deep 220 240
750 106.4 61.9 276 M16; 10 deep M®6; 10 deep 220 240
1000 106.4 61.9 276 M16; 10 deep M®6; 10 deep 220 240




56/68 Bosch Rexroth AG A4VSG Series 10, 11 and 30 | RE 92100/05.11

Complete schematic HO2

A4VSG with an auxiliary pump for the boost circuit, valve block and filter

Example: HO29F with EO2K

Sizes 40 to 180 (other sizes on request)

B If1 A
oy 4.2
Nig
Mg Ma
Msp e I 1
¢ b N TXa
o AT
Ms- aull 22
S o 21
: - ‘ Sy
2.4 13
I . S S 1Ty
. | | i 2%3_| ﬁ
St #ﬁ
¢ A §§§§3|
S T A o s S A A
X 3 X x x kx x % I x x x %
u M1 RsReR7 K2K3 T R(L) R4R3R2M2 S
Ports
Designation | Port for State
A B Service line (pressure port) (@]
S Suction - auxiliary pump (0]
K4 Outlet circuit flushing (@]
R(L) Fill and air bleed (case drain port) (0]
Ko, K3 Fill and air bleed (case drain port) X
T Drain X
Ma, Mg Measuring operating pressure X
P Control pressure O
Sp Accumulator - control pressure X
Ms, Measuring flushing pressure X
My, Mo Measuring control pressure X
Ryv Control fluid return line X
u Bearing flushing X
Rs...R7 Air bleeding of stroking chamber X

For components, see page 57; for dimensions, see pages 58 and 59



RE 92100/05.11 | A4VSG Series 10, 11 and 30 Bosch Rexroth AG 57/68

Complete schematic HO4

A4VSG with a common auxiliary pump for boost and control circuit, valve block and filter

Example: HO49F with EO1
Sizes 40, 71, 125 and 250

B I§1 A
ot 4.2
B
Ms Ma
MSp
Mg Mal [ ]
| i b[X] NVAVEER
IR TS A
[ 22
4 bz 24 t*PJ
I |
777777777777777777 49 b bp
] 3
! ¥
K3 K2 T R(L) M2 S
Component
Item Order designation Information
1 Variable pump A4VSG 40-180 A4VSG
1.1 Boost check valves standard for A4VSG
2 Hydraulic control device | EO2K |or |EO1 | See RE 92076

2.1 Short circuit valve (for EO.K)

2.2  4/3-directional proportional valve

2.3 Inductive pos. transducer (actual value transmitter)

2.4  Adapter plate

3 An auxiliary pump for the boost circuit only (mounted and piped) |H 02 or For selection, see page 54

A common, mounted and piped auxiliary pump for the boost and |H 04
control circuit (only for EO1 and EO1K)

4 Valve block SDVB 16 for A4VSG 40 to 180 For NG250 to 500 SDVB
4.1 Main high pressure relief 30, switching type 1 is used
and for NG750 and 1000,

SDVB 50 is used acc. to
4.3 Check valve RE 95533

[ BE

4.2 Flushing valve

[

5 Boost circuit filter See page 65

5.1  Optical contamination indicator

Control electronics are not included in delivery contents, please order separately

For dimensions, see page 58



58/68 Bosch Rexroth AG A4VSG Series 10, 11 and 30 | RE 92100/05.11

Dimensions HO2 9F and HO4 9F etaletion dracivg, Dimsdone e
A4VSG with an auxiliary pump, valve block and filter
Example: sizes 40 to 180

2
ﬂ Mounting -
5 clockwise rota-
: MB tion ?]L% [::I %_J%
<
3
& Yan () é K3
NN e I ~
Ko i |®BT YLDl
) oo h ]
SN
OO J
_ : 7”’ z
¥ |
ﬁ—i S
T Ma &)
4 Ki
Mounting -
As counter-clock- Mg for NG180 Ma for NG180
wise rotation Msp
A9
5 Pressure relief port A Pressure relief port B
(port B for NG 180) (port A for NG 180)
A
<
—
- 2

As

* View Z, see page 55
Values and ports, see page 59; components, see page 57




RE 92100/05.11 | A4VSG Series 10, 11 and 30 Bosch Rexroth AG  59/68

Before finalizing your design, request a binding
installation drawing. Dimensions in mm.

Dimensions HO2 9F and HO4 9F

A4VSG with an auxiliary pump, valve block and filter

Ports

Designation | Port for Standard Maximum pressure State
[bar]"

S See data sheet for auxiliary pump; for selection, see page 54

Ky Flushing DIN 3852-1 5 (@]

Msp Measuring flushing pressure DIN 3852-1 50 X

Ma, Mg Measuring operating pressure DIN 3852-1 400 X

1) Momentary pressure spikes may occur depending on the application. Keep this in mind when selecting measuring equipment
and fittings.

O = Must be connected (plugged on delivery)

X = Plugged (in normal operation)

For other ports, see dimensions of base pump A4VSG beginning on page 16 and separate data sheet of the control unit.

Ports?

NG K Msp Ma, Mg

40 M22 x 1.5; 14 deep M14 x 1.5; 12 deep M14 x 1.5; 12 deep
71 M22 x 1.5; 14 deep M14 x 1.5; 12 deep M14 x 1.5; 12 deep
125 M22 x 1.5; 14 deep M14 x 1.5; 12 deep M14 x 1.5; 12 deep
180 M22 x 1.5; 14 deep M14 x 1.5; 12 deep M14 x 1.5; 12 deep
250 M33 x 2; 18 deep M22 x 1.5; 14 deep M14 x 1.5; 12 deep
355 M33 x 2; 18 deep M22 x 1.5; 14 deep M14 x 1.5; 12 deep
500 M33 x 2; 18 deep M22 x 1.5; 14 deep M14 x 1.5; 12 deep
750 M48 x 2; 20 deep M14 x 1.5; 12 deep M18 x 1.5; 12 deep
1000 M48 x 2; 20 deep M14 x 1.5; 12 deep M18 x 1.5; 12 deep

2) Observe the general instructions on page 68 for the maximum tightening torques.

Dimensions

NG A1 A A3 Ay A5 A A As Ay A An
40 174 246 144 310 357 175 115 364 400 42 157
71 178 265 166 338 395 181 115 386 421 42 157
125 198 298 203 402 463 201 172(240)® 448 481 46 1875
180 198 298 203 430 495 234 178(233)% 448 506 46 1875
250 317 345 248 497 574 245 211 448 651 55 229
355 319 345 248 559 664 264 217 464 657 746 -
500 353 392 279 628 739 370 203 510 705 1053 -
750 446 427 301 693 819 393 372 591  * 105.3 -
1000 446 456 360 775 910 427 372 655  * 105.3 -

* On request
3) With HD.D and HD.G control



60/68 Bosch Rexroth AG A4VSG Series 10, 11 and 30 | RE 92100/05.11

Complete schematic HO6 9F

A4VSG with a separately auxiliary double pump for boost and control circuit, valve block and filter

Example: HO69F with HD1DT

Sizes 40 to 180 (other sizes on request)

|§1
@7}4_2 T, 25
We MO s e

Ma:
Tar | T T 1
¢ 24 s
‘ :
L ’
Msp- 4 — 3
43 3] 3
Mg~ @
11— |
51 H |
1 2 ' 1#9 +-R
—————— tertty s 1391
7777777777777777777777777 O+ | : P
B M
5 P ’
\q /77 H I= H
i i 3 P13 3.1
; T \ \
U K2K3 T R(L) M St S2
Ports
Designation | Port for State
A, B Service line (pressure port) O
Sy, Sy Suction - auxiliary pump (@]
Ky Outlet circuit flushing O
R(L) Fill and air bleed (case drain port) o
Ko, K3 Fill and air bleed (case drain port) X
T Drain X
Ma, Mg Measuring operating pressure X
M Measuring stroking chamber pressure X
Pst, X4, Xo Measuring pilot pressure X
R Return line O
Msp Measuring flushing pressure X
u Bearing flushing X

For components, see page 61; for dimensions, see pages 62 and 63.



RE 92100/05.11 | A4VSG Series 10, 11 and 30 Bosch Rexroth AG 61/68

Components HO6 9F

A4VSG with a separate double auxiliary pump for boost and control circuit, valve block and filter

Example: HO69F with HD1DT

Sizes 40 to 180 (other sizes on request)

Components

Item Ordering code Information

1 Variable pump A4VSG 40-180

1.1 Boost check valves standard for A4VSG

2 Hydraulic control device | HD1DT I See RE 92080

2.1 Control device

2.2  Pressure control valve, port A
(port B for counter-clockwise rotation)

2.3 Pressure control valve, port B
(port A for counter-clockwise rotation)

2.4  Sandwich plate for mounting proportional valve
2.5 Proportional pressure relief valve

Auxiliary pump for the boost circuit H 06

8 (mounted and piped)

For selection, see page 54

3.1 Auxiliary pump for the control circuit
(mounted and piped)

3.2 Pressure relief valve, control circuit DB 10 K2-4X/50YV
4 Valve block SDVB 16 for A4VSG 40-180 For NG250 to 500 SDVB

4.1  Pressure relief 30, operating type 1 is used
and for NG750 and 1000,
SDVB 50 is used acc. to
4.3 Check valve RE 95533

5 Boost circuit filter | F I See page 65

5.1  Optical contamination indicator

[

4.2 Flushing valve

For dimensions, see pages 62 and 63.



62/68 Bosch Rexroth AG A4VSG Series 10, 11 and 30 | RE 92100/0511

. . Before finalizin r design, rt a bindin
D iImensions H 069 F inatallation dragi{g.] Dimongions ifsmtm. °
A4VSG with a separate double auxiliary pump for the boost and control circuit, valve block and filter

Example: sizes 40 to 180

Mounting -
As clockwise rotation
X4
2 Xo
Ks
o :]
) ]
| / ]
! K2
<z &
] . 0
(] - N
<
- 7 <
<
. T,
4 K1 - 5 Ma
ounting -~ Mg for NG180 Ma for NG180
counter clockwise
rotation Msp
Ag
Pressure relief port A Pressure relief port E
(port B for NG 180) (port A for NG 180)
1
<
<
—
< £
) B )L
As y4 w
As ‘
As
* For views Z and W, see page 55
For values and ports, see page 63; for components, see page 61




RE 92100/05.11 | A4VSG Series 10, 11 and 30

Dimensions HO6 9F

A4VSG with a separate double auxiliary pump for boost and control circuit, valve block and filter

Bosch Rexroth AG

63/68

Before finalizing your design, request a binding
installation drawing. Dimensions in mm.

Ports

Designation | Port for Standard Maximum pressure State
[barl"

S, Sy See data sheet for auxiliary pump; for selection, see page 54

K4 Flushing DIN 3852-1 5 (@]

Ms, Measuring flushing pressure DIN 3852-1 50 X

Ma, Mg Measuring operating pressure DIN 3852-1 400 X

1) Moomentary pressure spikes may occur depending on the application. Keep this in mind when selecting measuring equipment
and fittings.
O = Must be connected (plugged on delivery)

X = Plugged (in normal operation)

For other ports, see dimensions of base pump A4VSG beginning on page 16 and separate data sheet of the control unit.

Ports?

NG
40

Ki
M22 x 1.5; 14 deep

Msp
M14 x 1.5; 12 deep

Ma, Mg
M14 x 1.5; 12 deep

4l

M22 x 1.5; 14 deep

M14 x 1.5; 12 deep

M14 x 1.5; 12 deep

125

M22 x 1.5; 14 deep

M14 x 1.5; 12 deep

M14 x 1.5; 12 deep

180

M22 x 1.5; 14 deep

M14 x 1.5; 12 deep

M14 x 1.5; 12 deep

250

M33 x 2; 18 deep

M22 x 1.5; 14 deep

M14 x 1.5; 12 deep

355

M33 x 2; 18 deep

M22 x 1.5; 14 deep

M14 x 1.5; 12 deep

500

M33 x 2; 18 deep

M22 x 1.5; 14 deep

M14 x 1.5; 12 deep

750

M48 x 2; 20 deep

M14 x 1.5; 12 deep

M18 x 1.5; 12 deep

1000

M48 x 2; 20 deep

M14 x 1.5; 12 deep

M18 x 1.5; 12 deep

2) Observe the general instructions on page 68 for the maximum tightening torques.

Dimensions

NG A, A, A Ay As Ag A; Ag Ao A Ay Ass Ay Asg Aqg
40 174 * 144 310 400 * 15 * * 49 157 157 42 * *

7 178 * 166 338 436 * 15 * * 49 157 157 42 * *

125 198 302 203 402 498 239 240 547 552 46 1875 157 42 56.7 61.5
180 198 302 203 430 529 236 233 602 607 46 1875 20.25 42 61.3 615
250 317 336 248 497 619 243 167 672 669 55 22.9 20.25 42 56.7 615
355 319 336 248 559 775 264 218 824 830 746 54 77 525 482 72
500 353 406 279 628 840 369 203 888 895 1053 - 7.7 525 333 72
750 446 423 301 693 945 392 372 994 1000 1053 - 7.7 525 482 72
1000 446 444 360 775 1036 426 372 1084 1091 1053 - 7.7 525 482 72

* On request



64/68 Bosch Rexroth AG

Valve block SDVB

The following versions are mounted standard:

Valve block SDVB 16 for A4VSG sizes 40 to 180,
SDVB 30 operating type 1 for A4VSG sizes 250 to 500 and
SDVB 50 for A4VSG sizes 750 and 1000

For technical data and detailed information, see RE 95533

A4VSG Series 10, 11 and 30 | RE 92100/0511



RE 92100/05.11 | A4VSG Series 10, 11 and 30 Bosch Rexroth AG  65/68

Filter mounted in boost circuit...F

If a filter is factory mounted in the boost circuit

(ordering code: F), the following filters (with electric optical
contamination indicator) are used depending on the size of the
axial piston units:

Sizes 40 and 71: LFBN/HC60G20D1.0/V-L24
Sizes 125 and 180: LFBN/HC110G20D1.0/V-L24
Sizes 250 and 355: LFBN/HC240G20D1.0/V-L24
Size 500: LFBN/HC330G20D1.0/V-L24
Sizes 750 and 1000: LFBN/HC660G20D1.0/V-L24

Please contact us for further details on the filter



66/68 Bosch Rexroth AG

Installation instructions

General

During commissioning and operation, the axial piston unit must
be filled with hydraulic fluid and air bled. This must also ob-
served following a relatively long standstill as the axial piston
unit may drain back to the reservoir via the hydraulic lines.

The commissioning must be carried out at low speed and with-
out load until the system has been air bled completely.

Especially when mounted with the "drive shaft upwards" (ex-
amples 6 and 12) , bearing flushing is necessary for lubrication
of the front bearing and of the shaft seal at port U.

See page 6.

The case drain fluid in the pump housing must be directed to
the reservoir via the highest available drain port (T, R(L), Ko, K3).

For combinations of multiple units, make sure that the respec-
tive case pressure in each unit is not exceeded. In the event of
pressure differences at the drain ports of the units, the shared
drain line must be changed so that the minimum permissible
case pressure of all connected units is not exceeded in any
situation. If this is not possible, separate drain lines must be laid
if necessary.

To achieve favorable noise values, decouple all connecting lines
using elastic elements and avoid above-reservoir installation.

In all operating conditions, the suction and case drain lines must
flow into the reservoir below the minimum fluid level. At version
with mounted attachment pump the permissible suction height
hs results from the overall loss of pressure; it must not, however,
be higher than hg ma =800 mm.

The minimum suction pressure at port S may not fall below
0.8 bar absolute in operation.

With mounted attachment pumps, please refer to the data sheet
for details on the minimum suction pressure, see page 54.

Installation position

See the following examples 1 to 12.
Further installation positions are available upon request.

Recommended installation position: 1 and 2.

Instructions

— Before installation, fill the pump case with the pump in a
horizontal position. Port T to the reservoir plugged. Filling op-
tion when mounted with shaft end upward: fill via R(L) and air
bleed at T, then plug port R(L).

- To achieve an optimum control function, the stroking
chambers must be bled via the highest available air bleed port
Rj to R7 depending on the installation position for HM, HS,
HS4 and EO.

— At installation positions 3, 4, 9 and 10 an influence on the
control characteristics can be expected. Gravity, unit weight
and case pressure can cause minor shifts in control charac-
teristics and changes in response time.

A4VSG Series 10, 11 and 30 | RE 92100/0511

Below-reservoir installation (standard)

Below-reservoir installation means that the axial piston unit is
installed outside of the reservoir below the minimum fluid level.

1 2
/SB SB\
liri:rgrhtmin htminigl;zriiril
. hmin
Amin fimin &min
— to S* to S* - T
IS = '
8 E§@ | i:i K3 7
- e
=i :
T R(L)
3 4
SB SB
v A
l i ¥lihtmin ht min jg i ]
@min hirin Pimin Amin
— to S* to S* -
K2 B(A) Ks
(L) -
Ea @ ﬂ e
5 # R(L) # @ ED
K B(A) =R
5 6
/SB SEi
liriirgr[htmin lgriiririhtmin
amin i amin i
— to S* to S*
T U
/i ‘
Ko § | R(L)
Clleraly”

Installation Fill / air bleed case
position

R(L)

T; plug R(L)

Ky; plug R(L)
(

Ka; plug R(L)

R(L)

oG |bh|WOW|IN|—=

T; plug R(L)

* With a mounted attachment pump, please observe the details
in the corresponding data sheet, see page 54

Key, see page 67.



RE 92100/05.11 | A4VSG Series 10, 11 and 30

Installation instructions

Above-reservoir installation

Above-reservoir installation means that the axial piston unit is
installed above the minimum fluid level of the reservoir.

A check valve in the case drain line is to be avoided.
Exceptions maybe permissible, please consult us first.

Bosch Rexroth AG

67/68

7 8
R(L) ﬁT
¥ B % :
f—ﬁ i R
2 Nyl ]
: By to S* 5 to S*
T i %A S\B R(L) S\B
1 4.1V I 4.avl
ht min Il ig ] ht min lI !7 ]
hmin amin Pmin Amin
9 10
o W
gl ﬂ R(L) & -
= @ 7 =
= R(L) u So Eu
Ks jﬂ B(A) mE Ke
to S* to S*
S\B ?/B
, 1.5y led b,
{1 (] e
Pmin Amin Amin h min
11 12
B A N
R T T g
[TIHs2 |+4
: Kol |
K2 14
we ooy 1 1\R(L)
to S* to S* ¢ ¢ ﬁ
S’/B ?/B
[.-g:_- i htmin [--2:—- i Nt min
1 J 1 J
8min P min 3Amin N min

* With a mounted attachment pump, please observe details on
suction height or minimum inlet pressure from the data sheet
for the attachment pump, see page 54

Installation | Fill / air bleed case

position

7 R(L)

8 T; plug R(L)

9 Ka; plug R(L)

10 Ka; plug R(L)

11 R(L)

12 T; plug R(L)

L, Filling / air bleeding

S Suction port

T, Ky, K3, R(L) Fill + air bleed
(case drain port)

A, B Pressure port

SB Baffle (baffle plate)

ht min Minimum permissible immersion depth
(200 mm)

hmin Minimum permissible spacing from suction
port to reservoir bottom (100 mm)

@min When designing the reservoir, ensure

adequate spacing between the suction line
and the case drain line. This prevents the
heated, return flow from being drawn directly

back into the suction line.



68/68 Bosch Rexroth AG A4VSG Series 10, 11 and 30 | RE 92100/0511

General instructions

— The A4VSG pump is designed to be used in closed circuits.
— Project planning, installation and commissioning of the axial piston units requires the involvement of qualified personnel.

- Before using the axial piston unit, please read the general instruction manual (RE 90300-B) completely and thoroughly.
If necessary, these can be requested from Bosch Rexroth.

— During and shortly after operation, there is a risk of burns on the axial piston unit and especially on the solenoids.
Take appropriate safety measures (e.g. by wearing protective clothing).

— Depending on the operating conditions of the axial piston unit (operating pressure, fluid temperature), the characteristics may shift.
— Service line ports (pressure ports):

- The ports and fastening threads are designed for the specified maximum pressure. The machine or system manufacturer must
ensure that the connecting elements and lines correspond to the specified application conditions (pressure, flow,
hydraulic fluid, temperature) with the necessary safety factors.

- The service line ports and function ports can only be used to accommodate hydraulic lines.
— The data and notes contained herein must be adhered to.
— The product is not approved as a component for the safety concept of a general machine according to DIN EN ISO 13849.
— The following tightening torques apply:

- Fittings:
Observe the manufacturer's instruction regarding the tightening torques of the fittings used.

- Mounting bolts:
For mounting bolts with metric ISO thread according to DIN 13, we recommend checking the tightening torque in individual
cases in accordance with VDI 2230.

- Female thread of the axial piston unit:
The maximum permissible tightening torques Mg max are maximum values of the female thread and must not be exceeded.
For values, see the following table.

- Threaded plugs:
For the metallic threaded plugs, supplied with the axial piston unit, the required tightening torques of threaded plugs My apply.
For values, see the following table.

Ports Maximum permissible Required WAF
tightening torque of the tightening torque of the hexagon socket of the
Standard Size of thread |female threads Mg max threaded plugs My threaded plugs
DIN 3852-1 M10 x 1 30 Nm 12 Nm 5 mm
M14 x 1.5 80 Nm 35 Nm 6 mm
M18 x 1.5 140 Nm 60 Nm 8 mm
M22 x 1.5 210 Nm 80 Nm 10 mm
M27 x 2 330 Nm 135 Nm 12 mm
M33 x 2 540 Nm 310 Nm 17 mm
M42 x 2 720 Nm 360 Nm 22 mm
M48 x 2 900 Nm 400 Nm 24 mm
Bosch Rexroth AG © This document, as well as the data, specifications and other information
Axial Piston Units set forth in it, are the exclusive property of Bosch Rexroth AG. It may not be
An den Kelterwiesen 14 reproduced or given to third parties without its consent.
72160 Horb a.N., Germany The data specified above only serve to describe the product. No statements
Phone +49 (0) 74 51 -92 0 concerning a certain condition or suitability for a certain application can be
Fax +49 (0) 74 51 - 82 21 derived from our information. The information given does not release the user

from the obligation of own judgment and verification. It must be remembered

info.brm-ak@boschrexroth.de that our products are subject to a natural process of wear and aging.

www.boschrexroth.com/axial-piston-pumps .
Subject to change.



	Axial Piston Variable PumpA4VSG
	Contents
	Features

	Ordering code for standard program
	2nd page
	3rd page

	Technical data
	Hydraulic fluid
	Bearing flushing
	Filtration of the hydraulic fluid
	Shaft seal
	Operating pressure range
	Flow direction
	Table of values
	Permissible radial and axial forces on the drive shaft
	Permissible input and through-drive torques

	Summary of control devices
	MA – Manual control
	EM – Electric motor control
	HD – Hydraulic control,pilot-pressure related
	EP – Electrohydraulic controlwith proportional solenoid
	HM 1/2 – Hydraulic control,volume dependent
	HS – Control systemwith servo valve
	HS4 – Control system,with proportional valve
	EO1/2 – Control system
	DR - Pressure control
	DP – Pressure control for parallel operation
	DS1 – Secondary speed control

	Dimensions size 40
	Drive shafts
	Ports

	Dimensions, size 71
	Drive shafts
	Ports

	Dimensions size 125
	Drive shafts
	Ports

	Dimensions size 180
	Drive shafts
	Ports

	Dimensions size 250
	Drive shafts
	Ports

	Dimensions size 355
	Drive shafts
	Ports

	Dimensions size 500
	Drive shafts
	Ports

	Dimensions size 750
	Drive shafts
	Ports

	Dimensions size 1000
	Drive shafts
	Ports

	Through drive
	Single pump with through drive
	Combination pumps

	Permissible mass bending moment of inertia
	Overview of mounting options on A4VSG
	Combination pumps dimensions
	A4VSG + A4VSG
	A4VSG + A4VSO
	A4VSG + A10VSO

	Through drive dimensions
	K31
	K33
	K34
	K35
	K77
	K43
	K76
	K88
	KB3
	KB4
	KB5
	KB6
	KB7
	K01
	K52
	K68
	K04
	K07
	K24
	K17
	K99
	Sizes 40 to 355
	Sizes 500 to 1000


	Mounted and piped auxiliary pumps H02, H04 and H06
	Dimensions suction port - auxiliary pumps
	Complete schematic H02
	Complete schematic H04
	Dimensions H02 9F and H04 9F
	A4VSG with an auxiliary pump, valve block and filter
	Ports
	Dimensions

	Complete schematic H06 9F
	Components H06 9F
	Dimensions H06 9F
	A4VSG with a separate double auxiliary pump for the boost and control circuit, valve block and filter
	Ports
	Dimensions

	Valve block SDVB
	Filter mounted in boost circuit...F
	Installation instructions
	General
	Installation position
	Below-reservoir installation (standard)
	Above-reservoir installation


	General instructions


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /PageByPage
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (Coated FOGRA27 \050ISO 12647-2:2004\051)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /sRGB
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 150
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /ColorImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 150
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /GrayImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 300
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 300
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (Coated FOGRA27 \050ISO 12647-2:2004\051)
  /PDFXOutputConditionIdentifier (FOGRA27)
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /False

  /Description <<
    /DEU <FEFF006600FC007200200049006E007400650072006E00650074002D0044006F006B0075006D0065006E00740065000D000A005300740061006E0064003A002000320032002E00300032002E0032003000310031>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /ConvertToRGB
      /DestinationProfileName (sRGB IEC61966-2.1)
      /DestinationProfileSelector /UseName
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements true
      /GenerateStructure false
      /IncludeBookmarks true
      /IncludeHyperlinks true
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /UseName
      /PageMarksFile /RomanDefault
      /PreserveEditing true
      /UntaggedCMYKHandling /UseDocumentProfile
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [600 600]
  /PageSize [595.276 841.890]
>> setpagedevice


